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QID : 1 - Who proposed the theory of classical conditioning? 

କିଏ ଶାସ�ୀୟ ଅନୁବ� ତ��  େଦଇଥ�େଲ ?

Opt ions:

1) Ivan Pavlov 
ଇଭା� ପାଭଲ� 
2) B. F. Skinner
ବ.ି ଏ�. ସି�ନ� 
3) J. B. Watson 
େଜ. ବ.ି ୱାଟସ� 
4) Edward Tolman 
ଏଡୱାଡ� େଟାଲମ�ାନ

Correct  Answer:  1)   Ivan Pavlov 
ଇଭା� ପାଭଲ�

Candidate Answer:   1)  Ivan Pavlov 
ଇଭା� ପାଭଲ�

 

QID : 2 - Growth is primarily ______ in nature. 

ବୃ�ି ସାଧାରଣତଃ କିପରି େହାଇଥାଏ ?

Shift- 3rd

Date- 8-Aug-2019

Paper- 1



Opt ions:

1) qualitative
ଗୁଣା�କ 
2) cyclical
ଚକ� ୀୟ 
3) quantitative 
ପରିମାଣା�କ 
4) circular
ବୃ�ୀୟ

Correct  Answer:  3)   quantitative 
ପରିମାଣା�କ

Candidate Answer:   4)  circular
ବୃ�ୀୟ

 

QID : 3 - Which statement is NOT true about development? 

େକଉଁ ଉକି�ଟ ିବକିାଶ ସମ��େର ସତ� ନୁେହଁ ?

Opt ions:

1) The pattern of development is the same for all children. 
ବକିାଶର ପ�କାର ସବୁ ପିଲା� ପାଇଁ ସମାନ ଅେଟ l 
2) The rate of development is different for different children.
ବକିାଶର ହାର ଅଲଗା ଅଲଗା ପିଲା� ପାଇଁ ଅଲଗା ଅେଟ । 
3) The rate of development is the same for all children, but the pattern differs. 
ସବୁ ପିଲା� ପାଇଁ ବକିାଶର ହାର ସମାନ କି��  ବକିାଶର ଆକାର ଅଲଗା l 
4) The pattern of development is the same for all children, but the rate differs. 
ସବୁପିଲା� ପାଇଁ ବକିାଶର ଆକାର ସମାନ କି��  ହାର ଅଲଗା l

Correct  Answer:  3)   The rate of development is the same for all children, but the pattern differs. 
ସବୁ ପିଲା� ପାଇଁ ବକିାଶର ହାର ସମାନ କି��  ବକିାଶର ଆକାର ଅଲଗା l

Candidate Answer:   1)  The pattern of development is the same for all children. 
ବକିାଶର ପ�କାର ସବୁ ପିଲା� ପାଇଁ ସମାନ ଅେଟ l

 

QID : 4 - _______ is also known as instrumental conditioning. 

__________ କୁ ଉପକରଣୀୟ ଅନୁବ� ମ� କୁହାଯାଏ ?



Opt ions:

1) Classical conditioning
ଶାସ�ୀୟ ଅନୁବ� 
2) Social learning
ସାମାଜିକ ଶି�ା 
3) Operant conditioning 
କି� ୟାପ�ସତୂ ଅନୁକୂଳନ 
4) Stimulus 
ଉ�ୀପକ

Correct  Answer:  3)   Operant conditioning 
କି� ୟାପ�ସତୂ ଅନୁକୂଳନ

Candidate Answer:   3)  Operant conditioning 
କି� ୟାପ�ସତୂ ଅନୁକୂଳନ

 

QID : 5 - Under operant conditioning, ______ has been seen to be effective only when it is something
that satisfies the present need of the organism. 

କି� ୟାପ�ସତୂ ଅନୁକୂଳନେର ଜୀବର ବ��ମାନର ଆବଶ�କତାକୁ ପରୂଣ କର� ଥ�ବା ସମୟେର େକଉଁଟ ିପ�ଭାବୀ େହବା ଉଚ�ି ?

Opt ions:

1) stimulus
ଉ�ୀପକ 
2) reinforcement 
ଦୃଢୀକରଣ 
3) organism
ଜୀବ 
4) pleasure
ସଖୁ

Correct  Answer:  2)   reinforcement 
ଦୃଢୀକରଣ

Candidate Answer:   1)  stimulus
ଉ�ୀପକ

 

QID : 6 - Which one of these is measured only in terms of size, height, weight, and length? 

ଏମାନ� ମ�ର�  େକଉଁଟେିର େକବଳ ଆକାର, ଉ�ତା, ଓଜନ ଓ ଲମ� ମପାଯାଏ ?



Opt ions:

1) Growth
ବୃ�ି 
2) Development
ବକିାଶ 
3) Progress
ଉନ�ତ ି
4) Maturation
ପରିପକ�ତା

Correct  Answer:  1)   Growth
ବୃ�ି

Candidate Answer:   1)  Growth
ବୃ�ି

 

QID : 7 - Who interpreted learning as a purposive, exploratory and creative enterprise instead of trial
and error or a simple stimulus response mechanisms? 

େକଉଁ ତ�� ବତିମାେନ ଶି�ାକୁ ପ�ଯ� ପ�ମାଦ ବା ସାଧାରଣ ଉ�ୀପକ ପ�ତକିି� ୟା ତନ�  ନକହ ିଏକ ଉେ�ଶ�ମଳୂକ, ଅେନ�ଷଣା�କ ଓ ସଜୃନଶୀଳ
ଉଦ�ମ ଆକାରେର ଦଶ�ାଇେଲ ?

Opt ions:

1) Constructivists
ରଚନା�କମାେନ 
2) Cognitivists
ସଂ�ାନା�କମାେନ 
3) Gestaltists
େଗଷ�ାଲ�ଷ�ସ 
4) Behaviourists
ବ�ବହାରବାଦୀମାେନ

Correct  Answer:  3)   Gestaltists
େଗଷ�ାଲ�ଷ�ସ

Candidate Answer:   3)  Gestaltists
େଗଷ�ାଲ�ଷ�ସ

 

QID : 8 - Which one of these types of learning occurs without any obvious reinforcement of the
behaviour or associations that are learned?

ଏମାନ� ମ�ର�  ପ�କାରର ଶି�ା ବ�ବହାରର େକୗଣସ ିଦୃଢୀକରଣ ବନିା ବା ଶି�ା କରିଥ�ବା ସହେଯାଗ ବନିା େହାଇଥାଏ ?



Opt ions:

1) Social learning
ସାମାଜିକ ଶି�ା 
2) Latent learning
ଅପ�କଟ ଶି�ା 
3) Divergent thinking
ଅପସାରୀ ଚନି�ନ 
4) Convergent thinking
ଅଭ�ସାରୀ ଚନି�ନ

Correct  Answer:  2)   Latent learning
ଅପ�କଟ ଶି�ା

Candidate Answer:   1)  Social learning
ସାମାଜିକ ଶି�ା

 

QID : 9 - ___________ occurs from watching, retaining, and replicating a behaviour observed from a
model.

େକଉଁଟ ିଏକ ନମନୁାର�  ଏକ ବ�ବହାର େଦଖ�, ମେନରଖ� ଓ େଦାହରାଇ େହାଇଥାଏ ?

Opt ions:

1) Classical conditioning
ଶାସ�ୀୟ ଅନୁବ� 
2) Observational learning 
ଅବେଲାକନ ଶି�ା 
3) Social learning
ସାମାଜିକ ଶି�ା 
4) Operant conditioning
କି� ୟାପ�ସତୂ ଅନୁକୂଳନ

Correct  Answer:  2)   Observational learning 
ଅବେଲାକନ ଶି�ା

Candidate Answer:   2)  Observational learning 
ଅବେଲାକନ ଶି�ା

 

QID : 10 - Insightful learning is found to depend upon all these factors EXCEPT: 

ନମି�ସ� କାହା ଉପେର ଅନ�ଦ�ୃ ଷି� ଶି�ା ନଭି�ର କେର ନାହ� ?



Opt ions:

1) Experience
ଅଭ��ତା 
2) Intelligence
ବୁ�ି 
3) Reception and Generalisation
ଗ�ହଣ ଓ ସାଧାରଣୀକରଣ 
4) Extinction
ବେିଲାପନ

Correct  Answer:  4)   Extinction
ବେିଲାପନ

Candidate Answer:   4)  Extinction
ବେିଲାପନ

 

QID : 11 - Who was the first one to demonstrate observational learning?

କିଏ ପ�ଥେମ ଅବେଲାକନ ଶି�ା ଦଶ�ାଇଥ�େଲ ?

Opt ions:

1) Wolfgang Köhler
ୱଲ�ଗ�ା� େକାହଲ� 
2) Erik Erikson
ଏରି� ଏରିକସ� 
3) Edward Tolman
ଏଡୱାଡ� େଟାଲମ�ାନ 
4) Albert Bandura
ଆଲବଟ� ବା�ୁରା

Correct  Answer:  4)   Albert Bandura
ଆଲବଟ� ବା�ୁରା

Candidate Answer:   2)  Erik Erikson
ଏରି� ଏରିକସ�

 

QID : 12 - Which one of these is NOT required in order for observational learning to occur?

ଅବେଲାକନ ଶି�ା େହବା ପାଇଁ ଏମାନ� ମ�ର�  େକଉଁଟ ିଆବଶ�କ ନୁେହଁ ?



Opt ions:

1) The observer must pay attention to an action.
ଅବେଲାକନକାରୀ ଏକ କାଯ�� ପ�ତ ିମନେଯାଗ େଦବା ଆବଶ�କ l 
2) The observer must remember the observed behaviour.
ଅବେଲାକନକାରୀ ଅବେଲାକିତ େହାଇଥ�ବା ବ�ବହାର ମେନରଖ�ବା ଉଚ�ି l 
3) The observer must be able to replicate the behaviour.
ଅବେଲାକନକାରୀ ବ�ବହାରକୁ େଦାହରାଇବା ପାଇଁ ସ�ମ େହବା ଉଚ�ି l 
4) The observer need not be motivated to produce the behaviour.
ଅବେଲାକନକାରୀ ବ�ବହାର ସଷିୃ� କରିବା ପାଇଁ ଅଭ�େପ�ରିତ େହବା ଆବଶ�କ ନୁେହଁ l

Correct  Answer:  4)   The observer need not be motivated to produce the behaviour.
ଅବେଲାକନକାରୀ ବ�ବହାର ସଷିୃ� କରିବା ପାଇଁ ଅଭ�େପ�ରିତ େହବା ଆବଶ�କ ନୁେହଁ l

Candidate Answer:   4)  The observer need not be motivated to produce the behaviour.
ଅବେଲାକନକାରୀ ବ�ବହାର ସଷିୃ� କରିବା ପାଇଁ ଅଭ�େପ�ରିତ େହବା ଆବଶ�କ ନୁେହଁ l

 

QID : 13 - The ________________________ provides punishment for those teachers who are engaged in
teaching children with special needs without a license.

ଶି�କମାେନ ବେିଶଷ ଆବଶ�କତା ଥ�ବା ପିଲାମାନ�ୁ ଲାଇେସନ�  ବନିା ପଢାଇେଲ େକଉଁଟ ିଦ�ବଧିାନ କେର ?

Opt ions:

1) The Rehabilitation Council of India Act, 1992
ରିହାବଲି�େଟସ� କାଉନସଲି ଅ� ଇ�ଆି ଆକ� , 1992 
2) The National Policy on Education, 1986
ଜାତୀୟ ଶି�ା ନୀତ,ି 1986 
3) District Primary Education Programme (DPEP)
ଜିଲ� ା ପ�ାଥମିକ ଶି�ା କାଯ��କ� ମ (DPEP) 
4) Integrated Education for Disabled Children (IEDC) scheme, 1974
ଭ�ନ��ମ ପିଲା� ପାଇଁ ସମାେବଶୀ ଶି�ା (IEDC) େଯାଜନା, 1974

Correct  Answer:  1)   The Rehabilitation Council of India Act, 1992
ରିହାବଲି�େଟସ� କାଉନସଲି ଅ� ଇ�ଆି ଆକ� , 1992

Candidate Answer:   2)  The National Policy on Education, 1986
ଜାତୀୟ ଶି�ା ନୀତ,ି 1986

 

QID : 14 - Which one of these is defined as “the measure or condition of things and services that can
readily be reached or used (at the physical, visual, auditory and/or cognitive levels) by people
including those with disabilities”? 

ଏମାନ� ମ�ର�  କାହାର ଅଥ� "ଜିନଷି ବା େସବାର ପରିମାପ ବା ଅବସ�ା ଯାହା ଅ�ମତା ଥ�ବା େଲାକମାନ� ସହ ସମସ�� ପାଖେର ପହଂଚ ିପାରିବ
ବା ବ�ବ�ତ େହାଇପାରିବ (ଶାରିରୀକ , ଦୃଶ�ମାନ, ଶ�ବଣ ଏବଂ/ବା ସଂ�ାନା�କ ସ�ରେର)" ?



Opt ions:

1) Accessibility
ଉପଲବ�ତା 
2) Special skills
ବେିଶଷ ଦ�ତାଗୁଡ଼କି 
3) Reservation
ସଂର�ଣ 
4) Inclusion
ଅନ�ନ�େବଶ

Correct  Answer:  1)   Accessibility
ଉପଲବ�ତା

Candidate Answer:   2)  Special skills
ବେିଶଷ ଦ�ତାଗୁଡ଼କି

 

QID : 15 - Under ___________________ it is mandatory for every special teacher to be registered by the
council and that every child with disability had the right to be taught by a qualified teacher. 

କାହା ଅଧୀନେର, ପ�ତ ିବେିଶଷ ଶି�କ�ୁ ପରିଷଦେର ପଂଜୀକୃତ କରିବା ବା�ତା ମଳୂକ ଅେଟ ଓ ପ�ତ ିଭ�ନ��ମ ପିଲା�ର ଜେଣ ବେିଶଷ
ଶି�କ� ଦ� ାରା ଶି�ାଗ�ହଣ କରିବାର ଅଧ�କାର ଅଛ ି?

Opt ions:

1) The National Policy on Education, 1986
ଜାତୀୟ ଶି�ା ନୀତ,ି 1986 
2) District Primary Education Programme (DPEP)
ଜିଲ� ା ପ�ାଥମିକ ଶି�ା କାଯ��କ� ମ (DPEP) 
3) The Rehabilitation Council of India Act, 1992
ରିହାବଲି�େଟସ� କାଉନସଲି ଅ� ଇ�ଆି ଆକ� , 1992 
4) Integrated Education for Disabled Children (IEDC) scheme, 1974
ଭ�ନ��ମ ପିଲା� ପାଇଁ ସମାେବଶୀ ଶି�ା (IEDC) େଯାଜନା, 1974

Correct  Answer:  3)   The Rehabilitation Council of India Act, 1992
ରିହାବଲି�େଟସ� କାଉନସଲି ଅ� ଇ�ଆି ଆକ� , 1992

Candidate Answer:   4)  Integrated Education for Disabled Children (IEDC) scheme, 1974
ଭ�ନ��ମ ପିଲା� ପାଇଁ ସମାେବଶୀ ଶି�ା (IEDC) େଯାଜନା, 1974

 



QID : 16 - _________ is when all students, regardless of any challenges they may have, are placed in
age-appropriate general education classes that are in their own neighbourhood schools to receive
high-quality instruction, interventions, and supports that enable them to meet success in the core
curriculum. 

େଯେତେବେଳ ସବୁ ଛାତ� େସମାନ�ର ଥ�ବା େକୗଣସ ିଅ�ମତା ନବି�େଶଷେର ଉପଯୁକ�  ବୟସ ହସିାବେର େସମାନ�ର ପାଖ ବଦି�ାଳୟଗୁଡ଼କିେର
ଥ�ବା ସାଧାରଣ ଶି�ଣ େଶ�ଣୀଗୃହକୁ ଯାଇ ଉ� ମାନର ସଚୂନା, ହସ�େ�ପ ଓ ସହାୟତା ପାଇଥାନି�, ଯାହା େସମାନ�ୁ ପାଠ�କ� ମେର ସଫଳତା
େଦଇଥାଏ, ଏହାକୁ କଣ କୁହାଯାଏ ?

Opt ions:

1) Universal education 
ସାମଗ�ୀକ ଶି�ା 
2) Inclusive education 
ଅନ�ନ�େବଶୀ ଶି�ା 
3) Exclusive education 
ନବିାରକ ଶି�ା 
4) Value education 
ମଲୂ�ଯୁକ�  ଶି�ା

Correct  Answer:  2)   Inclusive education 
ଅନ�ନ�େବଶୀ ଶି�ା

Candidate Answer:   1)  Universal education 
ସାମଗ�ୀକ ଶି�ା

 

QID : 17 - Under Project Integrated Education for the Disabled (PIED):

ଭ�ନ��ମ� ପାଇଁ ସମାେବଶୀ ଶି�ା (PIED) େ�ତ�େର େକଉଁଟ ିଠି� ?

Opt ions:

1) All the schools in the area are expected to enroll children with disabilities.
ଅ�ଳେର ଥ�ବା ସମସ� ବଦି�ାଳୟଗୁଡ଼କି ଭ�ନ��ମ� ପିଲା� ନାମ େଲଖାଇବ 
2) Some schools are selected for admitting students with disabilities.
ଭ�ନ��ମ ପିଲା� ନାମ େଲଖାଇବା ପାଇଁ କିଛ ିବଦି�ାଳୟ ଚୟନ େହାଇଥାନି� । 
3) Special schools are set up for children with special needs.
ବେିଶଷ ଆବଶ�କତା ଥ�ବା ପିଲାମାନ� ପାଇଁ ବେିଶଷ ବଦି�ାଳୟ ସ�ାପିତ େହାଇଛ ିl 
4) Schools in a specific cluster are urged to volunteer and offer seats to children with special needs
at affordable pricing.
ଏକ ନ�ି�ଷ� ମ�ଳେର ଥ�ବା ବଦି�ାଳୟଗୁଡ଼କି େସ��ାକୃତ ଭାବେର ସ�ଳ�  ମଲ�େର ବେିଶଷ ଆବଶ�କତା ଥ�ବା ପିଲାମାନ�ୁ ସ�ି େଦବ l

Correct  Answer:  1)   All the schools in the area are expected to enroll children with disabilities.
ଅ�ଳେର ଥ�ବା ସମସ� ବଦି�ାଳୟଗୁଡ଼କି ଭ�ନ��ମ� ପିଲା� ନାମ େଲଖାଇବ

Candidate Answer:   3)  Special schools are set up for children with special needs.
ବେିଶଷ ଆବଶ�କତା ଥ�ବା ପିଲାମାନ� ପାଇଁ ବେିଶଷ ବଦି�ାଳୟ ସ�ାପିତ େହାଇଛ ିl

 



QID : 18 - In a school that follows ______________ the school and classroom operate on the premise
that students with disabilities are as fundamentally competent as students without disabilities. 

େକଉଁ ପ�କାର ବଦି�ାଳୟେର ବଦି�ାଳୟ ଓ େଶ�ଣୀଗୃହ ଏହ ିନୟିମେର ଚାଲ�ଥାନି� କି ଭ�ନ��ମ ପିଲାମାେନ ଭ�ନ��ମ େହାଇନଥ�ବା ପିଲାମାନ� ସହ
ସମାନ ଭାବେର ପ�ତେିଯାଗୀତାମଳୂକ େହାଇଥାନି� ?

Opt ions:

1) Special education 
ବେିଶଷ ଶି�ା 
2) Inclusive education 
ଅନ�ନ�େବଶୀ ଶି�ା 
3) Exclusive education 
ନବିାରକ ଶି�ା 
4) Value education 
ମଲୂ�ଯୁକ�  ଶି�ା

Correct  Answer:  2)   Inclusive education 
ଅନ�ନ�େବଶୀ ଶି�ା

Candidate Answer:   2)  Inclusive education 
ଅନ�ନ�େବଶୀ ଶି�ା

 

QID : 19 - In which one these is also defined as "assessment for learning"? 

ଏମାନ� ମ�ର�  େକଉଁଟକୁି "ଶି�ା ପାଇଁ ମଲୂ�ାୟନ" ମ� କୁହାଯାଏ ?

Opt ions:

1) Curriculum-centred
ପାଠ�କ� ମ-େକୖ�ି� କ 
2) Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ 
3) Teacher-centred
ଶି�କ-େକୖ�ି� କ 
4) Subject-centred
ବଷିୟ-େକୖ�ି� କ

Correct  Answer:  2)   Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ

Candidate Answer:   2)  Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ

 

QID : 20 - Which one of these is NOT an example of teaching/learning materials (TLM)? 

ଏମାନ� ମ�ର�  େକଉଁଟ ିଏକ ଶି�ଣ ଉପକରଣ (TLM) ର ଉଦାହରଣ ନୁେହଁ ?



Opt ions:

1) End-of-semester test
େସମିଷ�ାର ପରୀ�ା 
2) Videos
ଭ�ଡଓିସ 
3) Flashcards
ଫ� ାସକାଡ�ସ 
4) Story books
ଗପ ବହଗିୁଡ଼କି

Correct  Answer:  1)   End-of-semester test
େସମିଷ�ାର ପରୀ�ା

Candidate Answer:   1)  End-of-semester test
େସମିଷ�ାର ପରୀ�ା

 

QID : 21 - Which approach is more likely than others to expose learners to real-life issues, help them
develop skills that are transferable to the real world, increase the relevance of the curriculum and
allow students to be creative and innovative as they are learning? 

େକଉଁ ପ�ତ ିଶି�ାଥ�ୀମାନ�ୁ ବାସ�ବ ଦୁନଆି ପରିସି�ତ ିସହ ଅଧ�କ ସଗୁମ� କେର, ବାସ�ବ ଦୁନଆିକୁ ହସ�ାନ�ରିତ େହାଇପାର� ଥ�ବା ଦ�ତା ବୃ�ି
କରିବାେର ସାହାଯ� କେର, ପାଠ�କ� ମର ଅନୁକୂଳତା ବଢାଏ ଓ ପିଲାମାନ�ୁ ଶି�ା ସହ ସଜୃନଶୀଳ ଓ ଅଭ�ନବ େହବାର ଅନୁମତ ିଦଏି ?

Opt ions:

1) Problem-based learning
ସମସ�ା-ପଯ��େବସତି ଶି�ା 
2) Learner-centred approach
ଶି�ାଥ�ୀ-େକୖ�ି� କ ପ�ତ ି
3) Content-based learning
ବଷିୟ ପଯ��େବସତି ଶି�ା 
4) Curriculum-based learning
ପାଠ�କ� ମ ପଯ��େବସତି ଶି�ା

Correct  Answer:  1)   Problem-based learning
ସମସ�ା-ପଯ��େବସତି ଶି�ା

Candidate Answer:   1)  Problem-based learning
ସମସ�ା-ପଯ��େବସତି ଶି�ା

 

QID : 22 - _______ is a generic term used to describe the resources teachers use to deliver instruction
and support student learning and increase student success.

ସମ�ଳ ଶି�କ ମାେନ ସଚୂନା େଦଇ ଛାତ�ମାନ�ର ଶି�ାକୁ ସହାୟତା କରିବା ଓ ଛାତ�ମାନ�ର ସଫଳତା ବଢାଇବାକୁ କଣ କୁହାଯାଏ ?



Opt ions:

1) Curriculum
ପାଠ�କ� ମ 
2) Teaching-learning material 
ଶି�ଣ ଉପକରଣ 
3) Syllabus
ପାଠ�ଖସଡା 
4) Assessment
ମଲୂ�ାୟନ

Correct  Answer:  2)   Teaching-learning material 
ଶି�ଣ ଉପକରଣ

Candidate Answer:   2)  Teaching-learning material 
ଶି�ଣ ଉପକରଣ

 

QID : 23 - Which one of the following is NOT an advantage of a learner-centred approach? 

ଏମାନ� ମ�ର�  େକଉଁଟ ିଶି�ାଥ�ୀ-େକୖ�ି� କ ପ�ତରି ଏକ ଫାଇଦା ନୁେହଁ ?

Opt ions:

1) It improves participation.
ଏହା ଅଂଶଗ�ହଣ ବଢାଏ l 
2) It facilitates personalized learning. 
ଏହା ବ�କି�ଗତ ଶି�ା େପ�ା�ାହତି କେର l 
3) It fosters collaborative learning. 
ଏହା ସହାୟକ ଶି�ାକୁ େପ�ା�ାହତି କେର l 
4) It is not labour-intensive for the teacher. 
ଏହା ଶି�କ� ପାଇଁ ଅଧ�କ ପରିଶ�ମ କାରକ ନୁେହଁ l

Correct  Answer:  4)   It is not labour-intensive for the teacher. 
ଏହା ଶି�କ� ପାଇଁ ଅଧ�କ ପରିଶ�ମ କାରକ ନୁେହଁ l

Candidate Answer:   4)  It is not labour-intensive for the teacher. 
ଏହା ଶି�କ� ପାଇଁ ଅଧ�କ ପରିଶ�ମ କାରକ ନୁେହଁ l

 

QID : 24 - In which one these is the focus on the strength, ability and needs of the learner than on
knowing learning deficit of the learner ? 

ଏମାନ� ମ�ର�  େକଉଁଥ�େର ଶି�ାଥ�ୀର ଶି�ଣ ଅସବୁଧିା ଜାଣବିା ବଦଳେର ଶି�ାଥ�ୀର ଶକି� , ଦ�ତା ଓ ଆବଶ�କତାଗୁଡ଼କି ଉପେର �ାନ
ଦଆିଯାଏ ?



Opt ions:

1) Curriculum-centred
ପାଠ�କ� ମ-େକୖ�ି� କ 
2) Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ 
3) Teacher-centred
ଶି�କ-େକୖ�ି� କ 
4) subject-centred
ବଷିୟ-େକୖ�ି� କ

Correct  Answer:  2)   Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ

Candidate Answer:   2)  Learner-centred
ଶି�ାଥ�ୀ-େକୖ�ି� କ

 

QID : 25 - ________ is a form of questioning which may have more than one correct answer or more
than one way of expressing the correct answer. 

େକଉଁଟ ିପ�ଶ� କରିବାର ଏକ ଉପାୟ େଯଉଁଥ�େର େଗାଟଏିର�  ଅଧ�କ ଠି� ଉ�ର ଥାଏ ବା ଠି� ଉ�ର ଦବାର ଏକର�  ଅଧ�କ ଉପାୟ ଥାଏ ?

Opt ions:

1) Oral test
େମୗଖ�କ ପରୀ�ା 
2) Subjective assessment 
ଦୀଘ� ଉ�ରମଳୂକ ମଲୂ�ାୟନ 
3) Objective assessment
ବ��ନଷି� ମଲୂ�ାୟନ 
4) Aural test
ଶ�ବଣ ସମ��ୀ ପରୀ�ା

Correct  Answer:  2)   Subjective assessment 
ଦୀଘ� ଉ�ରମଳୂକ ମଲୂ�ାୟନ

Candidate Answer:   2)  Subjective assessment 
ଦୀଘ� ଉ�ରମଳୂକ ମଲୂ�ାୟନ

 

QID : 26 - A test designed to assess the attainment in any subject with regard to a set of
predetermined objectives is called a/an: 

ପବୂ�ନ�ି�ାରିତ ଉେ�ଶ�ଗୁଡ଼କି ହସିାବେର େକୗଣସ ିବଷିୟେର ଦ�ତା ମଲୂ�ାୟନ ପାଇଁ େକଉଁ ପରୀ�ା କରାଯାଏ ?



Opt ions:

1) diagnostic test
େନୖଦାନକି ପରୀ�ା 
2) achievement test
ସଫଳତା ପରୀ�ା 
3) prognostic test
ଭବଷି� ସଚୂକ ପରୀ�ା 
4) screening test
ସ��ୀନଂି ପରୀ�ା

Correct  Answer:  2)   achievement test
ସଫଳତା ପରୀ�ା

Candidate Answer:   2)  achievement test
ସଫଳତା ପରୀ�ା

 

QID : 27 - Which one of the following is more of "assessment for learning" rather than "assessment
of learning"? 

ନମି�ସ� େକଉଁଟ ି"ଶି�ାର ମଲୂ�ାୟନ" ଅେପ�ା "ଶି�ା ପାଇଁ ମଲୂ�ାୟନ" ଅଧ�କ ଅେଟ ?

Opt ions:

1) Formative assessment
ଗଠନମଳୂକ ମଲୂ�ାୟନ 
2) Diagnostic assessment
େନୖଦାନକି ମଲୂ�ାୟନ 
3) Prognostic assessment
ଭବଷି� ସଚୂକ ମଲୂ�ାୟନ 
4) Summative assessment
େଯାଗା�କ ମଲୂ�ାୟନ

Correct  Answer:  1)   Formative assessment
ଗଠନମଳୂକ ମଲୂ�ାୟନ

Candidate Answer:   4)  Summative assessment
େଯାଗା�କ ମଲୂ�ାୟନ

 

QID : 28 - Which one of these is NOT a part of formative assessment?

ଏମାନ� ମ�ର�  େକଉଁଟ ିଗଠନମଳୂକ ମଲୂ�ାୟନର ଏକ ଅଂଶ ନୁେହଁ ?



Opt ions:

1) class room discussion 
େଶ�ଣୀଗୃହ ଆେଲାଚନା 
2) home work
ଘର ପାଠ 
3) weekly test
ସାପ�ାହକି ପରୀ�ା 
4) annual examination
ବାଷ�କ ପରୀ�ା

Correct  Answer:  4)   annual examination
ବାଷ�କ ପରୀ�ା

Candidate Answer:   1)  class room discussion 
େଶ�ଣୀଗୃହ ଆେଲାଚନା

 

QID : 29 - A ______ has different categories, where the learner can score lower or higher within the
scale depending on their answer. 

େକଉଁଥ�େର ବଭି�ନ�  ବଭିାଗଗୁଡ଼କି ଥାଏ, େଯଉଁଥ�େର ଶି�ାଥ�ୀ େସମାନ� ଉ�ରର ମାନ ହସିାବେର କ� ବା ଉ� େଗ�� ରଖ�ପାରିେବ ?

Opt ions:

1) self-assessment
ସ�-ମଲୂ�ାୟନ 
2) peer assessment 
ସହପାଠୀ ମଲୂ�ାୟନ 
3) multiple categories’ assessment
ବ� ବଭିାଗୀ ମଲୂ�ାୟନ 
4) single scale assessment
ଏକକ ମାନ ମଲୂ�ାୟନ

Correct  Answer:  3)   multiple categories’ assessment
ବ� ବଭିାଗୀ ମଲୂ�ାୟନ

Candidate Answer:   2)  peer assessment 
ସହପାଠୀ ମଲୂ�ାୟନ

 

QID : 30 - In a ____________, you can have completely different results depending on how the test taker
answers them for the same question by associating different categories (or possible outcomes) for
each answer.

େକଉଁଥ�େର ପରୀ�ା େଦଉଥ�ବା ପିଲା କିପରି ଉ�ର େଦଉଛ ିେସହ ିହସିାବେର ସମାନ ପ�ଶ�ର ପ�ତ ିଉ�ର ପାଇଁ ବଭି�ନ�  ବଗ� (ବା ସ�ାବ�
ଫଳାଫଳଗୁଡ଼କି) େଦଇ ଜେଣ ବଭି�ନ�  ଫଳାଫଳ ପାଇପାରିବ ?



Opt ions:

1) self-assessment
ସ�-ମଲୂ�ାୟନ 
2) peer assessment 
ସହପାଠୀ ମଲୂ�ାୟନ 
3) multiple categories’ assessment
ବ� ବଭିାଗୀ ମଲୂ�ାୟନ 
4) single scale assessment
ଏକକ ମାନ ମଲୂ�ାୟନ

Correct  Answer:  3)   multiple categories’ assessment
ବ� ବଭିାଗୀ ମଲୂ�ାୟନ

Candidate Answer:   2)  peer assessment 
ସହପାଠୀ ମଲୂ�ାୟନ

 

QID : 31 - ଉ�ାରଣ ସଠି� କରିବା ପାଇଁ, ଶି�କ ______ ଉପେର �ାନ େକ��  କରିବା ଉଚତି ।

Opt ions:

1) େମୗଖ�କ ପରୀ�ା 
2) ପଢ଼ବିା ଅଭ�ାସ 
3) େଶ�ଣୀେର ସଠି� ଉ�ାରଣ କରିବା 
4) ଶ��ତଲ�ଖନ

Correct  Answer:  3)   େଶ�ଣୀେର ସଠି� ଉ�ାରଣ କରିବା

Candidate Answer:   2)  ପଢ଼ବିା ଅଭ�ାସ

 

QID : 32 - ____ ସାହତି�କୁ ଅ�ୟନ ମା�ମେର ଛାତ�ଛାତ�ୀ�ୁ ତା�ର ନୂତନ ଏବଂ ରଚନା�କ ସବୁଧିାର ନମି�ାଣ ପାଇଁ ସଶକ�  ବନାଇଥାଏ |

Opt ions:

1) ମହତ�ପ�ୂ� ଦୃଷି�େକାଣ 
2) ତକ� ସ�ତ ଦୃଷି�େକାଣ 
3) ଭାବପ�ୂ� ଦୃଷ�େକାଣ 
4) ରଚନା�କ ଦୃଷି�େକାଣ

Correct  Answer:  4)   ରଚନା�କ ଦୃଷି�େକାଣ

Candidate Answer:   2)  ତକ� ସ�ତ ଦୃଷି�େକାଣ

 

QID : 33 - ଯଦ ିଜେଣ ବ�କି�  ଅବସର ପାଇଁ ପଢ଼ନି�, ତାେହେଲ ଏହାକୁ _______ କୁହାଯାଏ ।



Opt ions:

1) ସି�ମିଂ 
2) ଗଭୀରଭାେବ ପଢ଼ବିା 
3) ମେନାର�ନ େଶୖଳୀେର ପଢ଼ବିା 
4) ସ�ାନଂି

Correct  Answer:  3)   ମେନାର�ନ େଶୖଳୀେର ପଢ଼ବିା

Candidate Answer:   1)  ସି�ମିଂ

 

QID : 34 - ଉଭୟ ପଢ଼ବିା ଏବଂ େଲଖ�ବା ଉପେର �ାନ େକ�ି� ତ କରିବା ପାଇଁ ____________ ସବୁଠାର�  ଭଲ ଅେଟ |

Opt ions:

1) ଅନୁେଦଶ 
2) କହବିା 
3) ଶୁଣବିା 
4) �ାନ କରିବା

Correct  Answer:  1)   ଅନୁେଦଶ

Candidate Answer:   3)  ଶୁଣବିା

 

QID : 35 - _________ ଏବଂ ___________କୁ ଯାଂ� କରିବା ଏବଂ ଠିକ କରିବା ପାଇଁ ସାହାଯ�� କରିପାେର |

Opt ions:

1) ପଢ଼ବିା; ଶ�ାବଳୀ 
2) ଶୁଣବିା; ଉ�ାରଣ କରିବା 
3) େଲଖ�ବା; କହବିା 
4) ଶୁଣବିା; ବ�ାକରଣ

Correct  Answer:  2)   ଶୁଣବିା; ଉ�ାରଣ କରିବା

Candidate Answer:   2)  ଶୁଣବିା; ଉ�ାରଣ କରିବା

 

QID : 36 - ନମି�ଲ�ଖ�ତ  ମ�ର�  େକଉଁ ବକିଳ�ଟ ିଭାଷା େଫାରମର ଭାଗ ନୁେହଁ ?



Opt ions:

1) ପରିଷଦ (େବାଡ�ସ) 
2) କହବିା 
3) ବ�ାକରଣ 
4) ଶ� ବନି�ାସ 

Correct  Answer:  2)   କହବିା

Candidate Answer:   1)  ପରିଷଦ (େବାଡ�ସ)

 

QID : 37 - େଗାଟଏି ଭାଷା ଶିଖ�ବା ସମୟେର ଗ�ାମାର ର ଆବଶ�କତା କ’ଣ?

Opt ions:

1) ଭଲ ଭାେବ େଲଖ�ବା ପାଇଁ 
2) ପ�ା�ଳ ଭାେବ କହବିା ପାଇଁ 
3) ପରିଷ�ାର ଭାେବ କଥାବା��ା େହବା ପାଇଁ 
4) ଭାଷାେର କୁଶଳତାକୁ ଉନ�ତ କରିବା ପାଇଁ

Correct  Answer:  3)   ପରିଷ�ାର ଭାେବ କଥାବା��ା େହବା ପାଇଁ

Candidate Answer:   4)  ଭାଷାେର କୁଶଳତାକୁ ଉନ�ତ କରିବା ପାଇଁ

 

QID : 38 - େଗାଟଏି ଡାଇଭସ� େଶ�ଣୀ ଗୃହେର ଭାଷା ଶି�ା େଦବା ସମୟେର ଶି�କ ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ ଅସବୁଧିାର ସ��ଖୀନ �ଅନି� ନାହ�?

Opt ions:

1) ଭାଷା ଶିଖ�ବା ସମୟେର େଲଖ�ବା ସହତି କହବିା ମ�େର ଥ�ବା ପାଥ�କ� 
2) େଫାକ� ଡ ଓ େମାଟେିଭେଟ� ଶି�ାଥ�ୀମାେନ 
3) େଭାକାବୁଲାରୀର ଆଧାର ନମି�ାଣ କରିବା 
4) ପାର�ରିକ େଶୖଳୀେର େଶ�ଣୀଗୃହେର ପଢ଼ାଇବା ବନାମ ବାସ�ବକି ଦୁନଆିେର ଭାଷାର ପ�େୟାଗ

Correct  Answer:  2)   େଫାକ� ଡ ଓ େମାଟେିଭେଟ� ଶି�ାଥ�ୀମାେନ

Candidate Answer:   1)  ଭାଷା ଶିଖ�ବା ସମୟେର େଲଖ�ବା ସହତି କହବିା ମ�େର ଥ�ବା ପାଥ�କ�

 

QID : 39 - େଗାଟଏି ଭାଷା ଶିଖ�ବା ପାଇଁ ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁଟ ିପଡ଼ବିା ପାଇଁ ସବୁଠାର�  ଉପଯୁକ�  େକୗଶଳ ଅେଟ?



Opt ions:

1) ସ�ା� ଅରିବା 
2) ଇେଣ�� ସ�ି ରିଡଂି 
3) ସି�ମିଂ 
4) ଏକ� େଟ� ସ�ି ରିଡଂି

Correct  Answer:  3)   ସି�ମିଂ

Candidate Answer:   4)  ଏକ� େଟ� ସ�ି ରିଡଂି

 

QID : 40 - ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁଟ ିେଗାଟଏି ଭାଷାଗତ ତ��ଟ ିନୁେହଁ?

Opt ions:

1) ଗ�ାମା� 
2) ଫାଷ�� ଲା�ୁେୟ� ଇଣ�� େଫ� 
3) ଫ� ାୱାରୀ େଭାକାବୁଲାରୀ 
4) େପ�ାନାଉ� ସଏିଶ�

Correct  Answer:  3)   ଫ� ାୱାରୀ େଭାକାବୁଲାରୀ

Candidate Answer:   2)  ଫାଷ�� ଲା�ୁେୟ� ଇଣ�� େଫ�

 

QID : 41 - ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ ବକିଳ�ଟ ିଠି� ଅେଟ? ଜେଣ ଶି�ାଥ�ୀ େଲଖ�ବାର ଉେ�ଶ� େହଉଛ,ି ଏହା _____ ନ�ି�ାରଣ କରିବାେର
ସାହାଯ� କରିଥାଏ|

Opt ions:

1) େରେଟାରିକା� ଫ�ଚ� 
2) ଲ��ୁଇଷି�� ଚଏେସ� 
3) ଜିନ� 
4) ଉପେରାକ�  ସମସ�

Correct  Answer:  4)   ଉପେରାକ�  ସମସ�

Candidate Answer:   4)  ଉପେରାକ�  ସମସ�

 

QID : 42 - ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ କଥାକୁହା ଆେସ� େମଣ�, ଶି�ାଥ�ୀମାନ� ମ�େର ଅଧ�କ ବା��ାଳାପ କରିବାେର ସାହାଯ� କରିଥାଏ?



Opt ions:

1) ଇ�ଭି�ଜୁଆ� େମା� 
2) େମାେନାେଲାଗ� 
3) େପଆ� ଡ େମା� 
4) ଉପେରାକ�  ସମସ�

Correct  Answer:  3)   େପଆ� ଡ େମା�

Candidate Answer:   3)  େପଆ� ଡ େମା�

 

QID : 43 - ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ ବକିଳ�ଟ ିଠି� ଅେଟ? ପ�େତ�କ ଟାସ�େର, ଡ�ି�ା� ଟ� ଗୁଡ଼କି __________ ଅଟନି�|

Opt ions:

1) ସଠି� ବକିଳ�  ବ�ତତି ଅନ� ବକିଳ�ଗୁଡ଼କି 
2) ବକିଳ�ଗୁଡ଼କି ମ�ର�  ମଖୁ� ଚଏ� 
3) ବକିଳ�ଗୁଡ଼କି ମ�ର�  ଭ� ଲ ଉ�ର 
4) ପ�ଶ�େର ଥ�ବା ମ� ଟପି� ଚଏ�

Correct  Answer:  3)   ବକିଳ�ଗୁଡ଼କି ମ�ର�  ଭ� ଲ ଉ�ର

Candidate Answer:   3)  ବକିଳ�ଗୁଡ଼କି ମ�ର�  ଭ� ଲ ଉ�ର

 

QID : 44 - ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ ବକିଳ�ଟ ିଠି� ଅେଟ? ଇ� ଫମ�ା� ଆେସ� େମଣ�େର ଜଡ଼ତି ଥ�ବା କାଯ��କଳାପକୁ __________
କୁହାଯାଏ|

Opt ions:

1) ଶି�ାଥ�ୀମାନ�ର ଉ�ରକୁ ଲ�ଖ�ତ ଆକାରେର େରକଡ� କରିବା 
2) ଶି�ାଥ�ୀମାନ�ୁ େଭାକାବୁଲାରୀର େଗାଟଏି ତାଲ�କା କରିବା ପାଇଁ କହବିା 
3) ଫ� ୀ-ରିଡଂି କରିବା ସମୟେର ଶି�ାଥ�ୀମାନ�ୁ ଆଲ� କରାଯାଇଥ�ବା ସମୟର େରକଡ� ରଖ�ବା 
4) ବହରି ସାରାଂଶ େଲଖ�ବା ପାଇଁ ଶି�ାଥ�ୀମାନ�ୁ ଉ�ାହତି କରିବା

Correct  Answer:  4)   ବହରି ସାରାଂଶ େଲଖ�ବା ପାଇଁ ଶି�ାଥ�ୀମାନ�ୁ ଉ�ାହତି କରିବା

Candidate Answer:   3)  ଫ� ୀ-ରିଡଂି କରିବା ସମୟେର ଶି�ାଥ�ୀମାନ�ୁ ଆଲ� କରାଯାଇଥ�ବା ସମୟର େରକଡ� ରଖ�ବା

 

QID : 45 - ଶୁଣବିା ସମୟେର େଯେତେବେଳ ଆେମ ସ�ିାଥୀର ସୀମା ଲଂଘି ଜେଣ ପ�କୃତ ଲ�ଶନ� କୁ େଖାଜିଥାଉ ଯିଏକି, ଏହା ଅନ�ମାନ�
ଠାେର କି ଭାବନା ଆଣଛୁ ିବୁଝପିାରିଥାଏ, ଏହାକୁ କ’ଣ _________ କୁହାଯାଏ|



Opt ions:

1) ସ�ିାେଥଟ�ି ଲ�ଶନଂି 
2) ଏ�ାେଥଟ�ି ଲ�ଶନଂି 
3) ଆପି�ସଏିଟ�ି ଲ�ଶନଂି 
4) ଇଭାଲୁଏଟ�ି ଲ�ଶନଂି

Correct  Answer:  2)   ଏ�ାେଥଟ�ି ଲ�ଶନଂି

Candidate Answer:   1)  ସ�ିାେଥଟ�ି ଲ�ଶନଂି

 

QID : 46 - କଳାପଟା େକଉଁ ପ�କାରର ଟଚିଂି-ଏେ� ର ସାମି� େହବ?

Opt ions:

1) ଭ�ଡଓି-ଏ� 
2) ଅଡଓି-ଏ� 
3) ଅଡଓି-ଭ�ଜୁଆ� ଏ� 
4) ଭ�ଜୁଆ� ଏ�

Correct  Answer:  4)   ଭ�ଜୁଆ� ଏ�

Candidate Answer:   4)  ଭ�ଜୁଆ� ଏ�

 

QID : 47 - େଗାଟଏି ପ�ଭାବଶାଳୀ ବା��ାଳାପ ପାଇଁ ନମି�ଲ�ଖ�ତ କାଯ��ଧାରାଗୁଡ଼କି ମ�ର�  ଆପଣ ରଥେମ ଗ�ହଣ କରିେବ?

Opt ions:

1) ମଲୂ�ା�ନର କାଯ��ଧାରାକୁ ପ�ା� କର��  
2) ବଭି�ନ�  ବା��ାଳାପର ମା�ମକୁ ଚ�ିଟ କର��  
3) ବା��ାଳାପର ଉେ�ଶ�କୁ ନ�ି�ଷ� କର��  
4) ବା��ାଳାପର ଚ�ାେନ� କୁ ଚୟନ କର��

Correct  Answer:  3)   ବା��ାଳାପର ଉେ�ଶ�କୁ ନ�ି�ଷ� କର��

Candidate Answer:   2)  ବଭି�ନ�  ବା��ାଳାପର ମା�ମକୁ ଚ�ିଟ କର��

 

QID : 48 - ଲନ�ଂ େସେତବେଳ ଅଥ�ପଣୂ� �ଏ, େଯେତେବେଳ ______|



Opt ions:

1) ଶି�ାଥ�ୀମାେନ ବୁଝପିାରିବା ଭଳି ବ��ନା କରିବା ଉଚ�ି 
2) ପବୂ� �ାନ ସହତି ସ�କ�ତ ନୂଆ କେଣ�ଣ� ବଷିୟେର ଶି�ା େଦବା 
3) ଶି�ାଥ�ୀମାେନ ପ�ଶ� ପଚାରିେବ ଏବଂ େସଗୁଡ଼କିର ସମାଧାନ ମ� ପାଇେବ 
4) ଶି�ା ଦଆିଯାଇଥ�ବା ବଷିୟ ପ�ତ ିଶି�ାଥ�ୀମାନ�ର ଆଗ�ହ ଜନ� ାଇବା

Correct  Answer:  4)   ଶି�ା ଦଆିଯାଇଥ�ବା ବଷିୟ ପ�ତ ିଶି�ାଥ�ୀମାନ�ର ଆଗ�ହ ଜନ� ାଇବା

Candidate Answer:   3)  ଶି�ାଥ�ୀମାେନ ପ�ଶ� ପଚାରିେବ ଏବଂ େସଗୁଡ଼କିର ସମାଧାନ ମ� ପାଇେବ

 

QID : 49 - ଗିନ� � ଅନୁସାେର କ��� ଏଣ� କମ�ୁନେିକଶ� ଆେପ�ା�, ______କୁ ପ�ଭାବତି କରିବା ପାଇଁ ପ�ାଥମିକ ଗାଡ଼ ିଅେଟ|

Opt ions:

1) ବେିହଭ�ଅ� 
2) େସ� ଫ-ଏଷ�ୀ� 
3) କ� ା� - କେ��ା� 
4) ଆକାେଡମି� ସ

Correct  Answer:  2)   େସ� ଫ-ଏଷ�ୀ�

Candidate Answer:   2)  େସ� ଫ-ଏଷ�ୀ�

 

QID : 50 - �ାନର ଏକ ବପିରୀତ ଶ� େଲଖ�� -

Opt ions:

1) ତଥ� 
2) ସଚୂନା 
3) ଅ�ାନ 
4) ସେଚତନତା

Correct  Answer:  3)   ଅ�ାନ

Candidate Answer:   3)  ଅ�ାନ

 

QID : 51 - ଏକବୁଝାର ଏକ ପ�ତଶି� େଲଖ�� -



Opt ions:

1) ଉ�ରଦାୟୀ 
2) ଆ�ାକାରୀ 
3) ଜି� େଖା�  
4) ବଶ�

Correct  Answer:  3)   ଜି� େଖା� 

Candidate Answer:   3)  ଜି� େଖା� 

 

QID : 52 - ଉପଯୁକ�  ଅବ�ୟ ସହ ଶୂନ� ସ�ାନ ପରୂଣ କରିବା। ମଁ ୁତା� ଠାର�  ଗୁର� ବାର _____ େଫା� ଟଏି ପାଇ ନାହ�।

Opt ions:

1) େର 
2) ଠାର�  
3) ପାଇଁ 
4) ର

Correct  Answer:  2)   ଠାର�

Candidate Answer:   2)  ଠାର�

 

QID : 53 - ପ�ଶ�୪: ପ�ବାଦ ପରୂଣ କର�� - _______ େକୗଣସ ିଆଇନ ଜାେଣନ।ି

Opt ions:

1) ଅପରାଧ 
2) �ମତା 
3) ହଂିସା 
4) ଆବଶ�କତା

Correct  Answer:  4)   ଆବଶ�କତା

Candidate Answer:   1)  ଅପରାଧ

 

QID : 54 - ଋଢ଼ରି ଅଥ� େଲଖ�� । ଅରଣ� େରାଦନ



Opt ions:

1) େଯଉଁ ବ�କି�  ବଚିାରଧାରା କିମ�ା ମତାମତେର ଦୃଢ଼ 
2) େଯଉଁ ବ�କି�  ଅପି�ୟ ବଚିାରଧାରା ବା ମତାମତ ପ�କାଶ କେର 
3) େଯଉଁ ବ�କି�  ଅନାବାଦ ିସ�ାନେର କାେ� 
4) େଯଉଁ ବ�କି�  ସାଧାରଣ ବଚିାରଧାରା ବା ମତାମତ ପ�କାଶ କେର

Correct  Answer:  2)   େଯଉଁ ବ�କି�  ଅପି�ୟ ବଚିାରଧାରା ବା ମତାମତ ପ�କାଶ କେର

Candidate Answer:   2)  େଯଉଁ ବ�କି�  ଅପି�ୟ ବଚିାରଧାରା ବା ମତାମତ ପ�କାଶ କେର

 

QID : 55 - ଆମ ଗ�ହ ପଥୃ�ବୀେର ଜୀବନ ସାଗରର�  ହ� ଆରମ� େହାଇଥ�ଲା; ଏହା ପଥୃ�ବୀେର ଜୀବସ�ାର ଜନ�ସ�ାନ। ଆମ େସୗର ଜଗତେର
ପଥୃ�ବୀ ହ� ଆଜି ପଯ��ନ� �ାତ ଏକମାତ� ଗ�ହ େଯଉଁଥ�େର ଜଳ ଅଛ ିଏବଂ ଏହ ିଜଳ ଆମ ପଥୃ�ବୀକୁ ର�ୀନ କରିଛ,ି ଅେନକ ପ�କାରର ଜୀବନେର
ପରିପ�ୂ� କରିଛ।ି

ବ��ମାନ ସମଦୁ�  ପଥୃ�ବୀ ପଷୃ�ର ୭୦ ପ�ତଶିତ ଅଧ�କାର କରିଛ।ି ଦ�ିର େଗାଲକେର ଏହା ଉ�ର େଗାଲକ ଠାର�  ଅଧ�କ ଅ�ଳ େନଇଛ।ି ପଥୃ�ବୀ
ପଷୃ�େର ଥ�ବା ସମଦୁାୟ ଜଳର ୯୭% ସମଦୁ� େର ଅଛ।ି ବଳକା ତନି ିପ�ତଶିତ ଯାହାକି ସାଧାରରତଃ ମଧୁର �ଦ,ନଦୀ ଏବଂ ପଷୁ�ରିଣୀେର ରହଛି।ି
ସମଦୁ�  ଅଗଣତି ଜୀବ�ୁ ଖାଦ� ଏବଂ ଆଶ�ୟ େଦଇଛ।ି ଏହା ପଷିୁ�ସାରର ଏକ ବୃହ�  ଉ�। ୧୯୦୦େର ପଥୃ�ବୀର ଜନସଂଖ�ାଥ�ଲା ୧୫୦ େକାଟ,ି
ଏେବ ଏହା ୫୦୦ େକାଟରି�  ଅଧ�କ ଏବଂ ଦ��ତ ଗତେିର ବୃ�ି ପାଇବାେର ଲାଗିଛ।ି ପରିଣାମ ସ�ର� ପ ପଥୃ�ବୀର ଅେନକ ଅଂଶେର ଭୀଷଣ ଖାଦ�ାଭାବ
ରହଛି।ି ଆଫ��କା, ଏସଆି ଏବଂ ଦ�ିଣ ଆେମରିକାର ନ�ିତ ନ�ିତ େଲାକ ଖାଇବାକୁ ପାଉନାହଁାନି�। ଅେନେକ ଅପପଷିୁ� େଯାଗଁୁ ପ�ାଣ ହରାଉଛନି�।
ସମଦୁ�  ଯଦ ିବ�ିାନସ�ତ ଏବଂ ବେିବକ ସ�ତ ଭାବେର ବ�ବ�ତ େହବ େତେବ ଏହା ଆମର ଅେନକ ଚାହଦିା ପରୂଣ କରିପାରିବ। 
ସାମଦୁି� କ ଉ��ଦ ଏବଂ େଶୖବାଳ ମଖୁ�ତଃ ବୃ� ଜୀବନ ଗଠନ କରନି�। �ଦୁ�  ଉ��ଦ ପରି �ଦୁ�  ପ�ାଣୀମାେନ ମ� ଅଛନି�, େସମାେନ ଦମସୁ�ର ସବୁଠାର�
�ଦୁ�  ଜୀବ। ଏହ ି�ଦୁ�  ଜୀବମାେନ �ଦୁ�  ଉ��ଦ ଏବଂ େଛାଟ ମାଛମାନ�ୁ ଖାଆନି�। ଏହପିରି ଭାବେର ସମଦୁ� େର ଏକ ଭଗ� ଜୀବନ ଶୃ�ଳ ଅଛ।ି
ଆକ�ଟ�ି  ଏବଂ ଆଣ�ାକ�ଟ�ି  ସାଗରଗୁଡ଼କି �ଦୁ�  ଉ��ଦ ଏବଂ େଶୖବାଳେର ଭରପରୂ ଏବଂ ମାଛେର ମ�। ପଥୃ�ବୀର ବୃହ�ମ ଜୀବନ� ଜୀବ ନୀଳ
ତମିି ମ� ଏଠାେର ବ� ସଂଖ�ାେର ମିଳିଥାଏ।

ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁଟ ିସଠି� ବକିଳ�  ଅେଟ?

Opt ions:

1) ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ଆକାଶ ଅେଟ| 
2) ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ଚ��  ଅେଟ| 
3) ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ସମଦୁ�  ଅେଟ| 
4) ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ଧରଣୀ ଅେଟ|

Correct  Answer:  3)   ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ସମଦୁ�  ଅେଟ|

Candidate Answer:   4)  ପଥୃ�ବୀର ସମସ� ଜୀବ�ର ଜନ�  ସ�ାନ ଧରଣୀ ଅେଟ|

 



QID : 56 - ଆମ ଗ�ହ ପଥୃ�ବୀେର ଜୀବନ ସାଗରର�  ହ� ଆରମ� େହାଇଥ�ଲା; ଏହା ପଥୃ�ବୀେର ଜୀବସ�ାର ଜନ�ସ�ାନ। ଆମ େସୗର ଜଗତେର
ପଥୃ�ବୀ ହ� ଆଜି ପଯ��ନ� �ାତ ଏକମାତ� ଗ�ହ େଯଉଁଥ�େର ଜଳ ଅଛ ିଏବଂ ଏହ ିଜଳ ଆମ ପଥୃ�ବୀକୁ ର�ୀନ କରିଛ,ି ଅେନକ ପ�କାରର ଜୀବନେର
ପରିପ�ୂ� କରିଛ।ି

ବ��ମାନ ସମଦୁ�  ପଥୃ�ବୀ ପଷୃ�ର ୭୦ ପ�ତଶିତ ଅଧ�କାର କରିଛ।ି ଦ�ିର େଗାଲକେର ଏହା ଉ�ର େଗାଲକ ଠାର�  ଅଧ�କ ଅ�ଳ େନଇଛ।ି ପଥୃ�ବୀ
ପଷୃ�େର ଥ�ବା ସମଦୁାୟ ଜଳର ୯୭% ସମଦୁ� େର ଅଛ।ି ବଳକା ତନି ିପ�ତଶିତ ଯାହାକି ସାଧାରରତଃ ମଧୁର �ଦ,ନଦୀ ଏବଂ ପଷୁ�ରିଣୀେର ରହଛି।ି
ସମଦୁ�  ଅଗଣତି ଜୀବ�ୁ ଖାଦ� ଏବଂ ଆଶ�ୟ େଦଇଛ।ି ଏହା ପଷିୁ�ସାରର ଏକ ବୃହ�  ଉ�। ୧୯୦୦େର ପଥୃ�ବୀର ଜନସଂଖ�ାଥ�ଲା ୧୫୦ େକାଟ,ି
ଏେବ ଏହା ୫୦୦ େକାଟରି�  ଅଧ�କ ଏବଂ ଦ��ତ ଗତେିର ବୃ�ି ପାଇବାେର ଲାଗିଛ।ି ପରିଣାମ ସ�ର� ପ ପଥୃ�ବୀର ଅେନକ ଅଂଶେର ଭୀଷଣ ଖାଦ�ାଭାବ
ରହଛି।ି ଆଫ��କା, ଏସଆି ଏବଂ ଦ�ିଣ ଆେମରିକାର ନ�ିତ ନ�ିତ େଲାକ ଖାଇବାକୁ ପାଉନାହଁାନି�। ଅେନେକ ଅପପଷିୁ� େଯାଗଁୁ ପ�ାଣ ହରାଉଛନି�।
ସମଦୁ�  ଯଦ ିବ�ିାନସ�ତ ଏବଂ ବେିବକ ସ�ତ ଭାବେର ବ�ବ�ତ େହବ େତେବ ଏହା ଆମର ଅେନକ ଚାହଦିା ପରୂଣ କରିପାରିବ। 
ସାମଦୁି� କ ଉ��ଦ ଏବଂ େଶୖବାଳ ମଖୁ�ତଃ ବୃ� ଜୀବନ ଗଠନ କରନି�। �ଦୁ�  ଉ��ଦ ପରି �ଦୁ�  ପ�ାଣୀମାେନ ମ� ଅଛନି�, େସମାେନ ଦମସୁ�ର ସବୁଠାର�
�ଦୁ�  ଜୀବ। ଏହ ି�ଦୁ�  ଜୀବମାେନ �ଦୁ�  ଉ��ଦ ଏବଂ େଛାଟ ମାଛମାନ�ୁ ଖାଆନି�। ଏହପିରି ଭାବେର ସମଦୁ� େର ଏକ ଭଗ� ଜୀବନ ଶୃ�ଳ ଅଛ।ି
ଆକ�ଟ�ି  ଏବଂ ଆଣ�ାକ�ଟ�ି  ସାଗରଗୁଡ଼କି �ଦୁ�  ଉ��ଦ ଏବଂ େଶୖବାଳେର ଭରପରୂ ଏବଂ ମାଛେର ମ�। ପଥୃ�ବୀର ବୃହ�ମ ଜୀବନ� ଜୀବ ନୀଳ
ତମିି ମ� ଏଠାେର ବ� ସଂଖ�ାେର ମିଳିଥାଏ।

ନମି�ଲ�ଖ�ତ ମ�ର�  େକଉଁ ଶ�ଟ ି'ପ�ଚ�ର' ର ବପିରୀତ େବାଧକ ଅେଟ?

Opt ions:

1) ଅତ�ଧ�କ 
2) ସମ�ୃ 
3) ପ�ୂ� 
4) ଅଭାବ

Correct  Answer:  4)   ଅଭାବ

Candidate Answer:   4)  ଅଭାବ

 

QID : 57 - ଆମ ଗ�ହ ପଥୃ�ବୀେର ଜୀବନ ସାଗରର�  ହ� ଆରମ� େହାଇଥ�ଲା; ଏହା ପଥୃ�ବୀେର ଜୀବସ�ାର ଜନ�ସ�ାନ। ଆମ େସୗର ଜଗତେର
ପଥୃ�ବୀ ହ� ଆଜି ପଯ��ନ� �ାତ ଏକମାତ� ଗ�ହ େଯଉଁଥ�େର ଜଳ ଅଛ ିଏବଂ ଏହ ିଜଳ ଆମ ପଥୃ�ବୀକୁ ର�ୀନ କରିଛ,ି ଅେନକ ପ�କାରର ଜୀବନେର
ପରିପ�ୂ� କରିଛ।ି

ବ��ମାନ ସମଦୁ�  ପଥୃ�ବୀ ପଷୃ�ର ୭୦ ପ�ତଶିତ ଅଧ�କାର କରିଛ।ି ଦ�ିର େଗାଲକେର ଏହା ଉ�ର େଗାଲକ ଠାର�  ଅଧ�କ ଅ�ଳ େନଇଛ।ି ପଥୃ�ବୀ
ପଷୃ�େର ଥ�ବା ସମଦୁାୟ ଜଳର ୯୭% ସମଦୁ� େର ଅଛ।ି ବଳକା ତନି ିପ�ତଶିତ ଯାହାକି ସାଧାରରତଃ ମଧୁର �ଦ,ନଦୀ ଏବଂ ପଷୁ�ରିଣୀେର ରହଛି।ି
ସମଦୁ�  ଅଗଣତି ଜୀବ�ୁ ଖାଦ� ଏବଂ ଆଶ�ୟ େଦଇଛ।ି ଏହା ପଷିୁ�ସାରର ଏକ ବୃହ�  ଉ�। ୧୯୦୦େର ପଥୃ�ବୀର ଜନସଂଖ�ାଥ�ଲା ୧୫୦ େକାଟ,ି
ଏେବ ଏହା ୫୦୦ େକାଟରି�  ଅଧ�କ ଏବଂ ଦ��ତ ଗତେିର ବୃ�ି ପାଇବାେର ଲାଗିଛ।ି ପରିଣାମ ସ�ର� ପ ପଥୃ�ବୀର ଅେନକ ଅଂଶେର ଭୀଷଣ ଖାଦ�ାଭାବ
ରହଛି।ି ଆଫ��କା, ଏସଆି ଏବଂ ଦ�ିଣ ଆେମରିକାର ନ�ିତ ନ�ିତ େଲାକ ଖାଇବାକୁ ପାଉନାହଁାନି�। ଅେନେକ ଅପପଷିୁ� େଯାଗଁୁ ପ�ାଣ ହରାଉଛନି�।
ସମଦୁ�  ଯଦ ିବ�ିାନସ�ତ ଏବଂ ବେିବକ ସ�ତ ଭାବେର ବ�ବ�ତ େହବ େତେବ ଏହା ଆମର ଅେନକ ଚାହଦିା ପରୂଣ କରିପାରିବ। 
ସାମଦୁି� କ ଉ��ଦ ଏବଂ େଶୖବାଳ ମଖୁ�ତଃ ବୃ� ଜୀବନ ଗଠନ କରନି�। �ଦୁ�  ଉ��ଦ ପରି �ଦୁ�  ପ�ାଣୀମାେନ ମ� ଅଛନି�, େସମାେନ ଦମସୁ�ର ସବୁଠାର�
�ଦୁ�  ଜୀବ। ଏହ ି�ଦୁ�  ଜୀବମାେନ �ଦୁ�  ଉ��ଦ ଏବଂ େଛାଟ ମାଛମାନ�ୁ ଖାଆନି�। ଏହପିରି ଭାବେର ସମଦୁ� େର ଏକ ଭଗ� ଜୀବନ ଶୃ�ଳ ଅଛ।ି
ଆକ�ଟ�ି  ଏବଂ ଆଣ�ାକ�ଟ�ି  ସାଗରଗୁଡ଼କି �ଦୁ�  ଉ��ଦ ଏବଂ େଶୖବାଳେର ଭରପରୂ ଏବଂ ମାଛେର ମ�। ପଥୃ�ବୀର ବୃହ�ମ ଜୀବନ� ଜୀବ ନୀଳ
ତମିି ମ� ଏଠାେର ବ� ସଂଖ�ାେର ମିଳିଥାଏ।

ପ�ା�ଟ� _______ ଖାଇ ଜୀବନ ଧାରଣ କରିଥାଏ|



Opt ions:

1) ନୀଳ ତମିି 
2) ଉ��ଦ ପ�ା�ଟ� ଓ େଛାଟ ମାଛ 
3) େଭଜିଟାରିଆ� ଖାଦ� 
4) ଅନ�ାନ� ସମଦୁ�  ଜୀବ

Correct  Answer:  2)   ଉ��ଦ ପ�ା�ଟ� ଓ େଛାଟ ମାଛ

Candidate Answer:   2)  ଉ��ଦ ପ�ା�ଟ� ଓ େଛାଟ ମାଛ

 

QID : 58 - ଜନନୀ େଗା, ତ�େମ ଗସ�େର ଆସ ିକାଲ� ତ ଯାଇଚ େଫରି କି ଅବା ତ�ମର ‘େପ�ାଗ�ାମ’ ଥ�ଲା ଜାଣବିାକୁ ଚାେହଁ ଖାଲ�, ନଗେର ନଗେର
ବାଜା ବାଜୁଥ�ଲା, ଜମା େହାଇଥ�େଲ େକେତ ଥ�ଲାବାଲା, ବଚିାରିଲ�, ତ�େମ ପାଲଟଗିଲ କି ଆମରି ମନ� ୀ ପରି ଆସଥି�ଲ ମାଆ, ସେତ କି ଚଢ଼ ିେଗା
ନୂତନ ହାୱା ଗାଡ଼ ି।

‘ଜଗତଜନନୀ’ େବାଲ� ତ�ମ ନାମ କିଏ େସ କିପରି େଦଲା?
ତ�ମ ଦରଶନ ପାଇଁ ଲାଗିଥ�େଲ ଥ�ଲାବାଲା େଠଲାେପଲା ।
ଫୁଲମାଳା ଥ�ଲା େକେତକ ହାତେର କିଏ ଆସଥି�େଲ ତ�ମରି ସାଥ�େର େସ କଥା ବଚିାରି ଭାବୁଛ ିମଁ ୁତ�େମ ମନ� ୀ ପାଲଟ ିଗଲ ।
ଖାଲ� ଫୁଲମାଳା ଅ��ନା େହଲା- ତ�େମ କି ତା’ ନାହ� କଲ?
ତ�େମ ତ ଖାଇଲ େଭାଗରାଗ ବୁଲ� ଥାେନ-ଥାେନ ନାନାମେତ କିଏ େସ ପଜିୂଲା ଖଜା ପିଠା େଦଇ, କିଏ ବା େଖଚ�ଡ ିଭାେତ ।
ଖାଇବାକୁ େହଲା ଦେିନ ଦଶଥର େସ କଥାକୁ ତ�େମ ମନା କି କରିଲ?
କି ଭଳି ଭାବବି,ି ତ�େମ େହାଇନାହଁ ମନ� ୀ ସ�ଗ�ପେୁର ଖାଇବାକୁ େଯଣ ୁମନା କଲ ନାହ� ଯିଏ େଦଲା େଯେତେବେଳ !

ଏଠାେର କବ ିେକଉଁ ମହଳିା� ବଷିୟେର କ�ଛନି�?

Opt ions:

1) ମନ� ୀ 
2) େଜେଜମା 
3) େଦବୀ 
4) ମା’

Correct  Answer:  3)   େଦବୀ

Candidate Answer:   1)  ମନ� ୀ

 



QID : 59 - ଜନନୀ େଗା, ତ�େମ ଗସ�େର ଆସ ିକାଲ� ତ ଯାଇଚ େଫରି କି ଅବା ତ�ମର ‘େପ�ାଗ�ାମ’ ଥ�ଲା ଜାଣବିାକୁ ଚାେହଁ ଖାଲ�, ନଗେର ନଗେର
ବାଜା ବାଜୁଥ�ଲା, ଜମା େହାଇଥ�େଲ େକେତ ଥ�ଲାବାଲା, ବଚିାରିଲ�, ତ�େମ ପାଲଟଗିଲ କି ଆମରି ମନ� ୀ ପରି ଆସଥି�ଲ ମାଆ, ସେତ କି ଚଢ଼ ିେଗା
ନୂତନ ହାୱା ଗାଡ଼ ି।

‘ଜଗତଜନନୀ’ େବାଲ� ତ�ମ ନାମ କିଏ େସ କିପରି େଦଲା?
ତ�ମ ଦରଶନ ପାଇଁ ଲାଗିଥ�େଲ ଥ�ଲାବାଲା େଠଲାେପଲା ।
ଫୁଲମାଳା ଥ�ଲା େକେତକ ହାତେର କିଏ ଆସଥି�େଲ ତ�ମରି ସାଥ�େର େସ କଥା ବଚିାରି ଭାବୁଛ ିମଁ ୁତ�େମ ମନ� ୀ ପାଲଟ ିଗଲ ।
ଖାଲ� ଫୁଲମାଳା ଅ��ନା େହଲା- ତ�େମ କି ତା’ ନାହ� କଲ?
ତ�େମ ତ ଖାଇଲ େଭାଗରାଗ ବୁଲ� ଥାେନ-ଥାେନ ନାନାମେତ କିଏ େସ ପଜିୂଲା ଖଜା ପିଠା େଦଇ, କିଏ ବା େଖଚ�ଡ ିଭାେତ ।
ଖାଇବାକୁ େହଲା ଦେିନ ଦଶଥର େସ କଥାକୁ ତ�େମ ମନା କି କରିଲ?
କି ଭଳି ଭାବବି,ି ତ�େମ େହାଇନାହଁ ମନ� ୀ ସ�ଗ�ପେୁର ଖାଇବାକୁ େଯଣ ୁମନା କଲ ନାହ� ଯିଏ େଦଲା େଯେତେବେଳ !

େସ ସମସ� ସହର ଭ�ମଣ କରିବା ସମୟେର େସ େକଉଁମାନ�ର ମା’� ଦ� ାରା େବଡ଼ ିେହା ଇଥ�େଲ?

Opt ions:

1) ଦରିଦ�  
2) ଧନୀ 
3) େଛାଟପିଲାମାେନ 
4) ପରୁ� ଷେଲାକମାେନ

Correct  Answer:  2)   ଧନୀ

Candidate Answer:   2)  ଧନୀ

 

QID : 60 - ଜନନୀ େଗା, ତ�େମ ଗସ�େର ଆସ ିକାଲ� ତ ଯାଇଚ େଫରି କି ଅବା ତ�ମର ‘େପ�ାଗ�ାମ’ ଥ�ଲା ଜାଣବିାକୁ ଚାେହଁ ଖାଲ�, ନଗେର ନଗେର
ବାଜା ବାଜୁଥ�ଲା, ଜମା େହାଇଥ�େଲ େକେତ ଥ�ଲାବାଲା, ବଚିାରିଲ�, ତ�େମ ପାଲଟଗିଲ କି ଆମରି ମନ� ୀ ପରି ଆସଥି�ଲ ମାଆ, ସେତ କି ଚଢ଼ ିେଗା
ନୂତନ ହାୱା ଗାଡ଼ ି।

‘ଜଗତଜନନୀ’ େବାଲ� ତ�ମ ନାମ କିଏ େସ କିପରି େଦଲା?
ତ�ମ ଦରଶନ ପାଇଁ ଲାଗିଥ�େଲ ଥ�ଲାବାଲା େଠଲାେପଲା ।
ଫୁଲମାଳା ଥ�ଲା େକେତକ ହାତେର କିଏ ଆସଥି�େଲ ତ�ମରି ସାଥ�େର େସ କଥା ବଚିାରି ଭାବୁଛ ିମଁ ୁତ�େମ ମନ� ୀ ପାଲଟ ିଗଲ ।
ଖାଲ� ଫୁଲମାଳା ଅ��ନା େହଲା- ତ�େମ କି ତା’ ନାହ� କଲ?
ତ�େମ ତ ଖାଇଲ େଭାଗରାଗ ବୁଲ� ଥାେନ-ଥାେନ ନାନାମେତ କିଏ େସ ପଜିୂଲା ଖଜା ପିଠା େଦଇ, କିଏ ବା େଖଚ�ଡ ିଭାେତ ।
ଖାଇବାକୁ େହଲା ଦେିନ ଦଶଥର େସ କଥାକୁ ତ�େମ ମନା କି କରିଲ?
କି ଭଳି ଭାବବି,ି ତ�େମ େହାଇନାହଁ ମନ� ୀ ସ�ଗ�ପେୁର ଖାଇବାକୁ େଯଣ ୁମନା କଲ ନାହ� ଯିଏ େଦଲା େଯେତେବେଳ !

େକଉଁ ମାନ�ୁ ଦୃଷି�େର ରଖ� ଏହ ିପଦ� ରଚନା କରାଯାଇଛ?ି

Opt ions:

1) ଦରିଦ�  େଲାକ 
2) ପିଲାମାନ�ୁ 
3) ପରୁ� ଷେଲାକମାନ�ୁ 
4) ଧନୀମାନ�ୁ

Correct  Answer:  1)   ଦରିଦ�  େଲାକ

Candidate Answer:   1)  ଦରିଦ�  େଲାକ



 

QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. 

The students /come from /the Vietnam.

Opt ions:

1) The students 
2) come from 
3) the Vietnam. 
4) No Error

Correct  Answer:  3)   the Vietnam.

Candidate Answer:   3)  the Vietnam.

 

QID : 62 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully.

The temperature (on the water) was just right for swimming

Opt ions:

1) for the water 
2) of the water 
3) upto the water 
4) No correction required

Correct  Answer:  2)   of the water

Candidate Answer:   2)  of the water

 

QID : 63 - A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

Nishi's parents taught her to be punctual.

Opt ions:

1) Nishi will be taught to be punctual by her parents. 
2) Nishi was being taught to be punctual by her parents. 
3) Nishi has been taught by her parents to be punctual. 
4) Nishi was taught to be punctual by her parents.

Correct  Answer:  4)   Nishi was taught to be punctual by her parents.



Candidate Answer:   4)  Nishi was taught to be punctual by her parents.

 

QID : 64 - Select the word that fills in the blank correctly and completes the sentence meaningfully.

______________ are the fruits that father brought home in the evening?

Opt ions:

1) Whom 
2) When 
3) Where 
4) Who

Correct  Answer:  3)   Where

Candidate Answer:   3)  Where

 

QID : 65 - Select the word that fills in the blank correctly and completes the sentence meaningfully. 

Bread can be ______________ with different herbs and spices

Opt ions:

1) fluent 
2) flavoured 
3) flagrant 
4) fragrant

Correct  Answer:  2)   flavoured

Candidate Answer:   2)  flavoured

 

QID : 66 - Select the word that is closest in meaning (SYNONYM) to the word given below.

Fabricate

Opt ions:

1) Obstacle 
2) Destroy 
3) Produce 
4) Truth

Correct  Answer:  3)   Produce



Candidate Answer:   3)  Produce

 

QID : 67 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

Wile

Opt ions:

1) Trickery 
2) Protest 
3) Honour 
4) Avoid

Correct  Answer:  3)   Honour

Candidate Answer:   4)  Avoid

 

QID : 68 - Select the word that is spelled correctly.

Opt ions:

1) Immediateli 
2) Imediately 
3) Immediately 
4) Immidiately

Correct  Answer:  3)   Immediately

Candidate Answer:   3)  Immediately

 

QID : 69 - Select the most appropriate 'one word ' for the expressions given below. 

Mysterious; arousing superstitious fear or dread; uncomfortably strange

Opt ions:

1) Unsure 
2) Uncanny 
3) Unbearable 
4) Unintelligent

Correct  Answer:  2)   Uncanny

Candidate Answer:   3)  Unbearable



 

QID : 70 - Select the option that best expresses the meaning of the idiom or phrase given below.

‘A piece of cake’

Opt ions:

1) when a task/something is very easy 
2) to eat like a glutton 
3) to flatter someone 
4) to talk sweetly to get your work done

Correct  Answer:  1)   when a task/something is very easy

Candidate Answer:   1)  when a task/something is very easy

 

QID : 71 - In which of the following ways can one not use Audio Recordings to help in developing
listening skills?

Opt ions:

1) Playing audio books on a CD or laptop 
2) Recording teachers or students delivering dialogues 
3) Playing songs on an MP3 player 
4) Solving a comprehension

Correct  Answer:  4)   Solving a comprehension

Candidate Answer:   3)  Playing songs on an MP3 player

 

QID : 72 - The judging of listening materials with a negative or positive aspect is known as
_________________.

Opt ions:

1) Extensive listening 
2) Intensive listening 
3) Critical listening 
4) Comparative listening

Correct  Answer:  3)   Critical listening

Candidate Answer:   4)  Comparative listening

 



QID : 73 - Which one of the following is the most popular type of standard oral communication in
classrooms?

Opt ions:

1) Formal Speech 
2) Story-telling 
3) Role-playing 
4) Conversation

Correct  Answer:  1)   Formal Speech

Candidate Answer:   3)  Role-playing

 

QID : 74 - Which of the following tasks does not help in developing listening as well as speaking
skills?

Opt ions:

1) Simulation 
2) Dialogue 
3) Comprehension 
4) Games

Correct  Answer:  3)   Comprehension

Candidate Answer:   1)  Simulation

 

QID : 75 - In Audio-Lingual method, when a student is asked to repeat a teacher’s speech or
instructions, it is known as _____________________.

Opt ions:

1) Chain drill 
2) Repetition drill 
3) Substitution drill 
4) Dialogue Memorization

Correct  Answer:  2)   Repetition drill

Candidate Answer:   2)  Repetition drill

 

QID : 76 - The listener being solely depended upon the incoming inputs for meaning or interpretation
is called __________________.



Opt ions:

1) Top up processing 
2) Bottom up processing 
3) Forward processing 
4) Backward processing

Correct  Answer:  2)   Bottom up processing

Candidate Answer:   2)  Bottom up processing

 

QID : 77 - Adrian Droff identified different types of listening in the year ____________.

Opt ions:

1) 1975 
2) 1963 
3) 1997 
4) 1988

Correct  Answer:  4)   1988

Candidate Answer:   4)  1988

 

QID : 78 - Which of the following is not a sub-skill of listening?

Opt ions:

1) Understanding the subtext of unknown languages 
2) Following directions and commands given by the speaker 
3) Processing information given by the speaker 
4) Understanding pauses in speech, intonation patterns, stress etc.

Correct  Answer:  1)   Understanding the subtext of unknown languages

Candidate Answer:   1)  Understanding the subtext of unknown languages

 

QID : 79 - How many categories is Phonetics divided into?



Opt ions:

1) 6 
2) 4 
3) 5 
4) 3

Correct  Answer:  4)   3

Candidate Answer:   4)  3

 

QID : 80 - The process of using Vocal chords in the production of speech is known as ___________.

Opt ions:

1) Phonation 
2) Intuition 
3) Articulation 
4) Fixation

Correct  Answer:  1)   Phonation

Candidate Answer:   3)  Articulation

 

QID : 81 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

In which year was Chandrayaan-1 launched?



Opt ions:

1) 2019 
2) 2010 
3) 2009 
4) 2011

Correct  Answer:  3)   2009

Candidate Answer:   3)  2009

 

QID : 82 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

From where will the Chandrayaan-2 launch?

Opt ions:

1) Sriharikota 
2) Mumbai 
3) Patna 
4) Delhi

Correct  Answer:  1)   Sriharikota

Candidate Answer:   1)  Sriharikota

 



QID : 83 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

According to ISRO, the new mission will not consist of __________.

Opt ions:

1) Orbiter 
2) Solar Pane 
3) Rover 
4) Lander

Correct  Answer:  2)   Solar Pane

Candidate Answer:   2)  Solar Pane

 

QID : 84 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

With which country did ISRO plan to partner to perform Chandrayaan - 2?



Opt ions:

1) USA 
2) Australia 
3) Pakistan 
4) Russia

Correct  Answer:  4)   Russia

Candidate Answer:   4)  Russia

 

QID : 85 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

The orbiter will perform mapping from an altitude of:

Opt ions:

1) 200 m 
2) 100 km 
3) 1 km 
4) 400 m

Correct  Answer:  2)   100 km

Candidate Answer:   2)  100 km

 



QID : 86 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club I can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and I are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don’t live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that’s not a bad thing, it’s a super convenience. Let
me explain. Our home is located outside the city, which means I get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But I don’t have to get anywhere unless I want to. I just need my
computer, or my phone will do too. I order groceries, select the time I want it and voila! there’s the
delivery van at my gate. For my special brand of coffee I message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What is the problem with living in the city?

Opt ions:

1) Lose one's independence 
2) Cannot manage finances 
3) Long distances have to be travelled 
4) Air pollution

Correct  Answer:  4)   Air pollution

Candidate Answer:   3)  Long distances have to be travelled

 

QID : 87 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club I can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and I are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don’t live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that’s not a bad thing, it’s a super convenience. Let
me explain. Our home is located outside the city, which means I get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But I don’t have to get anywhere unless I want to. I just need my
computer, or my phone will do too. I order groceries, select the time I want it and voila! there’s the
delivery van at my gate. For my special brand of coffee I message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What has made life easy for the writer?



Opt ions:

1) Being retired 
2) Using the internet 
3) Living without children 
4) Salubrious surroundings

Correct  Answer:  2)   Using the internet

Candidate Answer:   4)  Salubrious surroundings

 

QID : 88 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club I can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and I are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don’t live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that’s not a bad thing, it’s a super convenience. Let
me explain. Our home is located outside the city, which means I get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But I don’t have to get anywhere unless I want to. I just need my
computer, or my phone will do too. I order groceries, select the time I want it and voila! there’s the
delivery van at my gate. For my special brand of coffee I message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

How does the writer buy coffee?

Opt ions:

1) She buys it from a virtual store. 
2) She imports it. 
3) She messages the seller. 
4) She buys it from the super-market.

Correct  Answer:  3)   She messages the seller.

Candidate Answer:   3)  She messages the seller.

 



QID : 89 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club I can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and I are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don’t live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that’s not a bad thing, it’s a super convenience. Let
me explain. Our home is located outside the city, which means I get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But I don’t have to get anywhere unless I want to. I just need my
computer, or my phone will do too. I order groceries, select the time I want it and voila! there’s the
delivery van at my gate. For my special brand of coffee I message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

After what age can one get concessions in air and train fares?

Opt ions:

1) Fifty years 
2) Sixty-five years 
3) Fifty-five years 
4) Sixty years

Correct  Answer:  4)   Sixty years

Candidate Answer:   4)  Sixty years

 

QID : 90 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club I can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and I are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don’t live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that’s not a bad thing, it’s a super convenience. Let
me explain. Our home is located outside the city, which means I get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But I don’t have to get anywhere unless I want to. I just need my
computer, or my phone will do too. I order groceries, select the time I want it and voila! there’s the
delivery van at my gate. For my special brand of coffee I message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What advantage the writer has because their house is outside the city?



Opt ions:

1) Healthy surroundings 
2) Instant gratification 
3) Super convenience 
4) Makes them generally happy

Correct  Answer:  1)   Healthy surroundings

Candidate Answer:   4)  Makes them generally happy

 

QID : 91 - How the mathematics curriculum treats mathematics?
I. As a tool for practical utility
II. A discipline that develops reasoning and analytical abilities

ଗଣତିର ପାଠ�କ� ମ ଗଣତିକୁ େକଉଁଭାବେର ଆଚରଣ କେର?
I. ବ�ବହାରିକ ଉପେଯାଗୀତା  ଏକ ସର�ାମ ହସିାବେର
II ଏକ ଶୃ�ଳା ଯାହା ଯୁକି�ଯୁକ�  ଏବଂ ବେିଶ�ଷଣା�କ ଦ�ତାର ବକିାଶ କେର

Opt ions:

1) Only I
େକବଳ I 
2) Only II
େକବଳ II 
3) Both I and II
I ଏବଂ II ଉଭୟ 
4) Neither I nor II
 I ନୁେହଁ ବା  II ନୁେହଁ

Correct  Answer:  1)   Only I
େକବଳ I

Candidate Answer:   3)  Both I and II
I ଏବଂ II ଉଭୟ

 

QID : 92 - ‘To buy a motorcycle, a person takes a loan of Rs 5,000 from the bank at 5% interest rate.If
he wants to repay the loan after 2 years, then how much amount he has to pay?’ The method to be
adopted to teach this problem is the ______.

ଯଦ ି'େମାଟର ସାଇେକଲ କିଣବିା ପାଇଁ ଜେଣ ବ�କି�  ବ�ା� ଠାର�  5% ସଧୁ ହାରେର 5,000 ଟ�ା ଉଧାର ନଏି େତେବ େସ 2 ବଷ� ପେର ଉଧାର
ପରିେଶାଧ କରିବାକୁ  ଚାହାନି�, େତେବ ତାର େକେତ ପରିମାଣ େଦବାପାଇଁ  େହବ?' ପ�ତଟି ିଅବଳମ�ନ କରିବାକୁ  ହବ ଏଇ ସମସ�ାଟ ିଶିଖା��
______।



Opt ions:

1) Analysis synthesis method
ବେିଶ�ଷଣ ସଂେଶ�ଷଣ ପ�ତ ି
2) Problem solving method
ସମସ�ା ସମାଧାନର ପ�ତ ି
3) Inductive method
ସଚୂକ ପ�ତ ି
4) Deductive method
ଡଡିକଟଭି ପ�ତି

Correct  Answer:  1)   Analysis synthesis method
ବେିଶ�ଷଣ ସଂେଶ�ଷଣ ପ�ତି

Candidate Answer:   2)  Problem solving method
ସମସ�ା ସମାଧାନର ପ�ତି

 

QID : 93 - The extraction of information in the branch of mathematics is called ______.

ଗଣତିର ଶାଖାେର ତଥ�ର ନଷି�ାଶନକୁ ______ କୁହା �ଏ।

Opt ions:

1) Numerical
ସଂଖ�ାସଚୂକ 
2) Statements
ବବୃିତ ି
3) Equations
ସମୀକରଣ 
4) Statistics
ପରିସଂଖ�ାନ

Correct  Answer:  4)   Statistics
ପରିସଂଖ�ାନ

Candidate Answer:   4)  Statistics
ପରିସଂଖ�ାନ

 

QID : 94 - When a teacher asked his student a question that ‘what is the area?’, “he answered ‘length ×
breadth”’. What can you say about the student’s understanding about the concept of the area?

େଯେବ େକୗଣସ ିଶି�କ ତାର ଛାତ�କୁ ଏକଟ ିପ�ଶ� ପଚାେର େଯ ‘େ�ତ�ଟ ିକଣ?’, “େସ ଉ�ର େଦଲା 'େଦୖଘ��-ପ�ସ�'"।
ଆପଣ�ର ଶି�ାଥ�ୀକୁ  ଏହାର  ଧାରଣା ସ�କ�େର ବୁଝବିାକୁ ବଷିୟେର କଣ କହ ିପାରନି�?



Opt ions:

1) The student has no information about the concept of the area
ଶି�ାଥ�ୀର ପାଖେର ଏହାର ଧାରଣା ସ�କ�େର େକୗଣସ ିତଥ� ନାହ�  
2) The student used the area of the rectangle as a general idea of the area of any closed shape
ଛାତ�ଟ ିେଯ େକୗଣସ ିବ� ଆକାରେର  େ�ତ�େର ସାଧାରଣ ଧାରଣା ହସିାବେର ଆୟତେ�ତ�ର  ଅ�ଳଟ ିବ�ବହାର କେର  
3) The student is confused between the concept of area and perimeter
ଶି�ାଥ�ୀ ଅ�ଳ ଏବଂ େଘେରରଧାରଣାର ମ�େର ବଭି� ାନ� ଅଛ ି 
4) All options are correct
ସମସ� ବକିଳ�  ସଠିକ

Correct  Answer:  2)   The student used the area of the rectangle as a general idea of the area of any
closed shape
ଛାତ�ଟ ିେଯ େକୗଣସ ିବ� ଆକାରେର  େ�ତ�େର ସାଧାରଣ ଧାରଣା ହସିାବେର ଆୟତେ�ତ�ର  ଅ�ଳଟ ିବ�ବହାର କେର 

Candidate Answer:   2)  The student used the area of the rectangle as a general idea of the area of
any closed shape
ଛାତ�ଟ ିେଯ େକୗଣସ ିବ� ଆକାରେର  େ�ତ�େର ସାଧାରଣ ଧାରଣା ହସିାବେର ଆୟତେ�ତ�ର  ଅ�ଳଟ ିବ�ବହାର କେର 

 

QID : 95 - Which of the following statement(s) is/are not correct in the context of teaching
‘measurement’ to primary class students?

ପ�ାଥମିକ େଶ�ଣରି ଶି�ାଥ�ୀର ‘ପରିମାପ’ ଶିେଖଇବାର ପ�ସ�େର ନମି�ର େକଉଁ ବବୃିତ ିଗୁଡ଼କି ସଠିକ ନୁେହଁ?

Opt ions:

1) Only non-standard measures should be used
େକବଳମାତ� ମାନହୀନ ପଦେ�ପ ବ�ବହାର କରାଯିବା ଉଚତି 
2) Non-standard measures should not be used
ଅ-ମାନକ ପଦେ�ପଗୁଡ଼କି ବ�ବହାର କରାଯିବା ଉଚତି ନୁେହଁ 
3) Standard measures should be followed by non-standard measures
ମାନକ ପଦେ�ପଗୁଡ଼କି ସହ  ମାନହୀନ ପଦେ�ପଗୁଡ଼କି ଅନୁସରଣ କରାଯିବା ଉଚତି 
4) All options are correct
ସମସ� ବକିଳ�  ସଠିକ

Correct  Answer:  4)   All options are correct
ସମସ� ବକିଳ�  ସଠିକ

Candidate Answer:   4)  All options are correct
ସମସ� ବକିଳ�  ସଠିକ

 

QID : 96 - If a teacher wants to teach ‘addition’ to Class II students, then which of the following is the
most appropriate strategy?

େକୗଣସ ିଶି�କ ଯଦ ିII େଶ�ଣରି ଶି�ାଥ�ୀର ‘ସଂେଯାଜନ’ ଶିଖାଇବାକୁ  ଚାହାନି�, େତେବ ନମି�ର େକଉଁ ଟ ିସବୁଠାର�  ଉପଯୁକ�  େକୗଶଳ?



Opt ions:

1) Addition should be introduced through word problems
ଶ� ସମସ�ାର ମା�ମେର ସଂେଯାଜନ ପ�ବତ�ନ କରାଯିବା ଉଚତି 
2) By writing all the formulae on the board
େବାଡ�େର ସମସ� ସତୂ� େଲଖ� 
3) Word problems should be done at the end of the chapter
ଶ� ସମସ�ା ଅ�ାୟ େଶଷେର ଅନୁଶୀଳନ  କରାଯିବା ଉଚତି 
4) No option is correct
େକୗଣସ ିବକିଳ�  ସଠିକ ନୁେହଁ

Correct  Answer:  1)   Addition should be introduced through word problems
ଶ� ସମସ�ାର ମା�ମେର ସଂେଯାଜନ ପ�ବତ�ନ କରାଯିବା ଉଚତି

Candidate Answer:   1)  Addition should be introduced through word problems
ଶ� ସମସ�ାର ମା�ମେର ସଂେଯାଜନ ପ�ବତ�ନ କରାଯିବା ଉଚତି

 

QID : 97 - Which of the following method is “learning by doing" method in mathematics?

ନମି�ର େକଉଁ ପ�ତଟି ିଗଣତିର "ପ�ତ ିଦ� ାରା ଶିଖନି�"?

Opt ions:

1) Analytic Method
ବେିଶ�ଷଣ ପ�ତ ି
2) Laboratory Method
ପରୀ�ାଗାର ପ�ତ ି
3) Deductive Method
ଡଡିାକଟଭି େମଥଡ 
4) No option is correct
େକୗଣସ ିବକିଳ�  ସଠିକ ନୁେହଁ

Correct  Answer:  2)   Laboratory Method
ପରୀ�ାଗାର ପ�ତି

Candidate Answer:   1)  Analytic Method
ବେିଶ�ଷଣ ପ�ତି

 

QID : 98 - Which of the following method is adopted to solve logical problems in Geometry?

ଜ�ାମିତେିର େଯୗକି�କ ସମସ�ା ସମାଧାନର ପାଇଁ ନମି�ଳିଖ�ତ େକଉଁ ପ�ତ ିଗ�ହଣ କରା�ଏ?



Opt ions:

1) Inductive
ପ�ସ�ାବନାମଳୂକ 
2) Deductive
ନ�ାୟିକ 
3) First analysis and then synthesis
ପ�ଥେମ ବେିଶ�ଷଣ ଏବଂ ତା'ପେର ସଂେଶ�ଷଣ 
4) Analysis
ବେିଶ�ଷଣ

Correct  Answer:  3)   First analysis and then synthesis
ପ�ଥେମ ବେିଶ�ଷଣ ଏବଂ ତା'ପେର ସଂେଶ�ଷଣ

Candidate Answer:   3)  First analysis and then synthesis
ପ�ଥେମ ବେିଶ�ଷଣ ଏବଂ ତା'ପେର ସଂେଶ�ଷଣ

 

QID : 99 - According to National Curriculum Framework 2005 "Developing the capacities of children
for Mathematization is the main goal of mathematics education. The narrow objective of school
mathematics is to develop useful capabilities." Here, Mathematization refers to develop a child’s
abilities for which of the following purpose?

ନ�ାଶନାଳ କାରିକୁଳାମ େଫ�ମଓକ� 2005 ଅନୁସାେର "ଗଣତି ପାଇଁ ଶିଶୁର ସ�ମତା ବକିାଶ କରି ଗଣତି ଶିଖାଇବା ମଳୂ ଲ�� । ସ� �ଲ ଗଣତିର
ସଂକୀଣ� ଉେ�ଶ�ଟ ିଦରକାରୀ ସ�ମତା ବକିାଶ କରିବା।" ଏଠି, ଗଣତିଟ ିନମି�ର େକଉଁ ଉେ�ଶ�େର ସନ�ାନର ଦ�ତା ବକିାଶକୁ ବୁଝାଏ?

Opt ions:

1) To develop the child’s resources to think mathematically, to pursue assumptions to their logical
conclusion and to handle abstractions
ଗାଣତିକିଭାେବ ଚନି�ାଭାବନା କରି, ତାର େଯୗକି�କ ଉପସଂହାେର ଅନୁମାନଗୁଡ଼କୁି ଅନୁସରଣ କରି ଏବଂ ବମିତୂ�ତାଗୁଡ଼କି ପରିଚାଳନା କରିବାପାଇଁ 
ସନ�ାନର ସଂସ�ାନଗୁଡ଼କୁି ବକିାଶ କେର 
2) To efficiently perform all number operations including knowing the square root and the cube root
େସ�ାୟାର ର� ଟ ଏବଂ କିଉବ ର� ଟ ସହ ସକଳ ସଂଖ�କ କି� ୟାକଳାପ ଦ�ତାର ସା�େର ସ�ାଦନ କେର 
3) To formulate theorems of Geometry and their proofs independently
ଜ�ାମିତରି ଉପପାଦ� ଏବଂ ତାର ପ�ମାଣଗୁଡ଼ ିସ�ାଧୀନଭାେବ ପ�ଣୟନ କରାଯାଏ 
4) Translating word problems into linear equations
ଶ�େର ସମସ�ାଗୁଡ଼କି େରୖଖ�କ ସମୀକରଣେର ଅନୁବାଦ କେର

Correct  Answer:  1)   To develop the child’s resources to think mathematically, to pursue
assumptions to their logical conclusion and to handle abstractions
ଗାଣତିକିଭାେବ ଚନି�ାଭାବନା କରି, ତାର େଯୗକି�କ ଉପସଂହାେର ଅନୁମାନଗୁଡ଼କୁି ଅନୁସରଣ କରି ଏବଂ ବମିତୂ�ତାଗୁଡ଼କି ପରିଚାଳନା କରିବାପାଇଁ 
ସନ�ାନର ସଂସ�ାନଗୁଡ଼କୁି ବକିାଶ କେର

Candidate Answer:   1)  To develop the child’s resources to think mathematically, to pursue
assumptions to their logical conclusion and to handle abstractions
ଗାଣତିକିଭାେବ ଚନି�ାଭାବନା କରି, ତାର େଯୗକି�କ ଉପସଂହାେର ଅନୁମାନଗୁଡ଼କୁି ଅନୁସରଣ କରି ଏବଂ ବମିତୂ�ତାଗୁଡ଼କି ପରିଚାଳନା କରିବାପାଇଁ 
ସନ�ାନର ସଂସ�ାନଗୁଡ଼କୁି ବକିାଶ କେର

 



QID : 100 - Mathematics used by illiterate shopkeeper ______.

ନରି�ର େଦାକାନୀ ଦ� ାରା ଗଣତି ବ�ବ�ତ �ଏ  ______।

Opt ions:

1) is not useful in class
କ� ାସ ଦରକାରୀ ନୁେହଁ 
2) is very useful in solving all mathematical problems
ସମସ� ଗାଣତିକି ସମସ�ା ସମାଧାନ ଖୁବ ଦରକାରୀ 
3) is ambiguous and the level of correctness in it is very low
ଅସ�ଷ� ଏବଂ ଏଟ ିସଠିକତାର ସ�ରଟ ିଖୁବ କମ 
4) should be discussed by the teachers in classrooms as an alternative strategy in solving related
problems
େଶ�ଣକି�େର  ଶି�କ� ଦ� ାରା  ସ�କ�ତ ସମସ�ାଗୁଡ଼କୁି ସମାଧାନର ବକିଳ�  େକୗଶଳ ହସିାବେର ଆେଳାଚନା କରାଯିବା ଉଚତି

Correct  Answer:  4)   should be discussed by the teachers in classrooms as an alternative strategy
in solving related problems
େଶ�ଣକି�େର  ଶି�କ� ଦ� ାରା  ସ�କ�ତ ସମସ�ାଗୁଡ଼କୁି ସମାଧାନର ବକିଳ�  େକୗଶଳ ହସିାବେର ଆେଳାଚନା କରାଯିବା ଉଚତି

Candidate Answer:   4)  should be discussed by the teachers in classrooms as an alternative
strategy in solving related problems
େଶ�ଣକି�େର  ଶି�କ� ଦ� ାରା  ସ�କ�ତ ସମସ�ାଗୁଡ଼କୁି ସମାଧାନର ବକିଳ�  େକୗଶଳ ହସିାବେର ଆେଳାଚନା କରାଯିବା ଉଚତି

 

QID : 101 - 

Opt ions:

1) 1

2) 3

3) 5/3

4) 7/3

Correct  Answer:  1)   1

Candidate Answer:   1)  1

 



QID : 102 - If a × b = (a – b) , then what is the value of 35 × 10?

ଯଦ ିa × b = (a – b)  �ଏ, େତେବ 35 × 10 ର ମାନ େକେତ?

Opt ions:

1) 3 
2) 5 
3) 7 
4) 9

Correct  Answer:  2)   5

Candidate Answer:   2)  5

 

QID : 103 - What is the sum of natural numbers from 3 to 12? (including both number)

3 ଠାର�  12 ପଯ�ନ� ପ�ାକୃତକି ସଂଖ�ାର େଯାଗଫଳ େକେତ? (ଉଭୟ ସଂଖ�ା ସହ)

Opt ions:

1) 78

2) 75

3) 100

4) 85

Correct  Answer:  2)   75

Candidate Answer:   2)  75

 

QID : 104 - What will be the unit digit of 347 × 63 × 29 × 81?

347 × 63 × 29 × 81 ର ଏକ ସଂଖ�ାଟ ିେକେତ ହବ?

Opt ions:

1) 7 
2) 1 
3) 9 
4) 8

Correct  Answer:  3)   9

Candidate Answer:   3)  9

1/2

1/2



 

QID : 105 - Which of the following is not a perfect cube?

ନମି� େର େକଉଁଟ ିସଠିକ ଘନେ�ତ� ନୁେହଁ?

Opt ions:

1) 216 
2) 125 
3) 729 
4) 243

Correct  Answer:  4)   243

Candidate Answer:   4)  243

 

QID : 106 - If the area of a rhombus is 1000 cm  and one of the diagonal is 50 cm, then what is the
value (in cm) of the other diagonal of the rhombus?

ଯଦ ିେଗାଟଏି ଗମ��ଜଟରି େ�ତ�ଫଳ 1000 େସମି  ଏବଂ େଗାଟଏି କ�� 50 େସମି �ଏ, େତେବ ରମ�ସର ଅନ�ାନ� କ�� ଗୁଡକିର ମାନ (େସମି
େର) େକେତ?

Opt ions:

1) 40 
2) 44 
3) 48 
4) 52

Correct  Answer:  1)   40

Candidate Answer:   3)  48

 

QID : 107 - If the radius and height of a cone are 36 cm and 27 cm respectively, then what is the slant
height (in cm) of the cone?

ଯଦ ିଏକଟ ିଶ�ୁଟରି ବ�ାସାଧ� ଏବଂ ଉ�ତା ଯଥାକ� େମ 36 େସମି ଏବଂ 27 େସମି �ଏ, େତେବ ଶ�ୁଟରି ତଯି�କ ଉ�ତା (େସନି� ମିଟାେର) େକେତ?

2

2



Opt ions:

1) 50

2) 45

3) 55

4) 40

Correct  Answer:  2)   45

Candidate Answer:   2)  45

 

QID : 108 - If the area of the base of a cone is 132 cm  and the height of the cone is 12 cm, then what
is the volume (in cm ) of the cone?

ଯଦ ିଶ�ୁର ଗୁଡକିର େ�ତ�ଫଳ 132 େସମି  ଏବଂ ଶ�ୁର ଉ�ତା 12 େସମି �ଏ, େତେବ ଶ�ୁର ଆୟତନ (େସମି ) େକେତ?

Opt ions:

1) 488 
2) 728 
3) 528 
4) 428

Correct  Answer:  3)   528

Candidate Answer:   2)  728

 

QID : 109 - If the side of a square is 40 cm, then what is the area (in cm ) of the square?

ଯଦ ିଏକଟ ିବଗ�େ�ତ�ର ପାଶ�� 40 େସମି �ଏ, େତେବ ବଗ�େ�ତ�ର େ�ତ�ଫଳ (େସମି ) େକେତ?

Opt ions:

1) 400

2) 800

3) 1200

4) 1600

Correct  Answer:  4)   1600

Candidate Answer:   4)  1600

2

3

2 3

2

2



 

QID : 110 - 

Opt ions:

1) 120

2) 140

3) 160

4) 180

Correct  Answer:  1)   120

Candidate Answer:   1)  120

 



QID : 111 - 

Opt ions:

1) 40

2) 80

3) 120

4) 160

Correct  Answer:  2)   80

Candidate Answer:   2)  80

 

QID : 112 - 



Opt ions:

1) 20

2) 60

3) 100

4) 140

Correct  Answer:  3)   100

Candidate Answer:   3)  100

 

QID : 113 - What is the complementary angle (in degrees) of 85°?

85° ର ପରିପରୂକ େକାଣ (ଡଗି�ୀେର) େକେତ?

Opt ions:

1) 2 
2) 3 
3) 4 
4) 5

Correct  Answer:  4)   5

Candidate Answer:   4)  5

 

QID : 114 - What are the number of diagonals in a hexagon?

ଷଡ଼ଭ� ଜଟରି କ�� ସଂଖ�ା େକେତ?

Opt ions:

1) 9 
2) 13 
3) 17 
4) 21

Correct  Answer:  1)   9

Candidate Answer:   2)  13

 



QID : 115 - Area of a rectangle is 864 cm . Length of the rectangle is 36 cm. What is the perimeter (in
cm) of this rectangle?

ଏକଟ ିଆୟତେ�ତ�ର େ�ତ�ଫଳ 864 େସମି । ଆୟତେ�ତ�ଟରି େଦୖଘ�� 36 େସମି। ଏଇ ଆୟତେ�ତ�ର େଘର (େସନି� ମିଟାର) େକେତ?

Opt ions:

1) 140

2) 60

3) 180

4) 120

Correct  Answer:  4)   120

Candidate Answer:   4)  120

 

QID : 116 - If 3A4 = 19 and 5A7 = 47, then what is the value of 4A5?

ଯଦ ି3A4 = 19 ଏବଂ 5A7 = 47 �ଏ, େତେବ 4A5 ର ମାନ େକେତ?

Opt ions:

1) 27

2) 29

3) 31

4) 37

Correct  Answer:  2)   29

Candidate Answer:   2)  29

 

QID : 117 - In the following question, four number pairs are given. The number on left side of (–) is
related to the number of the right side of (–) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

ନମି�ଲ�ଖ�ତ ପ�ଶ�େର , ଚାର େଗାଟ ିେଯାଡା ଦଆି �ଏ। (-) ର ବାମ ପାଶ�େର ନମ�ରଟ ିକିଛ ିଯୁକି�  / ବଧି� / ସ�କ� ସ�କ�ତ (-) ର ଡାହାଣ ପାଖେର
ସଂଖ�ାର ସା�େର ସ�କ�ତ। ତନିଟ ିଏକ ଲଜିକ / ବଧି� / ସ�କ�ରର ଭ��ିେର ଅନୁର� ପ। ପ�ଦ� ବକିଳ�ଗୁଡ଼କି ଠାର�  ବେିଜାଡ଼ଟ ିବାଛ ିନଅି�� ।

2

2



Opt ions:

1) 10 – 121 
2) 12 – 169 
3) 14 – 169 
4) 16 – 289

Correct  Answer:  3)   14 – 169

Candidate Answer:   3)  14 – 169

 

QID : 118 - 

What is the average amount of milk (in litres) sold by milkman per day?

ପ�ତଦିନି ଦୁଧ ବକିାଳି ଦ� ାରା ହାରାହାରି େକେତ ଦୁଧ (ଲ�ଟରେର) ବକିି�  �ଏ?

Opt ions:

1) 52.86 
2) 56.85 
3) 60.85 
4) 64.85



Correct  Answer:  1)   52.86

Candidate Answer:   1)  52.86

 

QID : 119 - 

The amount of milk sold on day D5 is approximately what percentage of average amount milk sold
by the milkman per day?

D5 ଦନିେର ବକିି�  େହାଇଥ�ବା ଦୁଧର ପରିମାଣ ଅନୁସାେର ପ�ାୟ  ପ�ତଦିନି ଦୁଧ ବାଲା ଦ� ାରା ବକିି�  େହଉଥ�ବା ଦୁଧର େକେତ ଶତାଂଶ ବକିି�  �ଏ?

Opt ions:

1) 101.96 
2) 105.94 
3) 109.96 
4) 113.96

Correct  Answer:  2)   105.94

Candidate Answer:   3)  109.96



 

QID : 120 - 

The amount of milk sold on day D6 is what percentage of amount of milk sold on day D3?

D6 ଦନିେର ବକିି�  େହାଇଥ�ବା ଦୁଧର ପରିମାଣ, D3 େର ବକିି�  େହାଇଥ�ବା ଦୁଧର େକେତ ଶତାଂଶ?

Opt ions:

1) 108 
2) 112 
3) 116 
4) 120

Correct  Answer:  3)   116

Candidate Answer:   3)  116

 



QID : 121 - The present syllabus of environmental studies is woven around some common themes.
Which of the following is not included in the list of those themes?

ପରିେବଶଗତ ଅ�ୟନର ବତ�ମାନ ପାଠ�କ� ମ େକତଟ ିସାଧାରଣ ଥ�େମର ଚାରଦ ିେବାନା �ଏ। ନମି�ଳିଖ�ତ ଥ�ମଗୁଡ଼ରି ତାଳିକାୟ ନମି�ର କଣଟି
ଅନ�ଭ�� କ�  ନୁେହଁ?

Opt ions:

1) Water
ପାନ ି
2) Air
ବା� 
3) Food
ଖାଦ� 
4) Shelter
ଆଶ�ୟ

Correct  Answer:  2)   Air
ବା�

Candidate Answer:   2)  Air
ବା�

 

QID : 122 - The syllabus of EVS at primary level is divided into how many themes?

ପ�ାଥମିକ ସ�େରର EVSର ସେିଳବାସଟ ିେକତଟ ିଥ�ମ ବଭିକ�?

Opt ions:

1) Seven
ସାତ 
2) Six
ଛୟ 
3) Eight
ଆଟ 
4) Four
ଚାର

Correct  Answer:  2)   Six
ଛୟ

Candidate Answer:   4)  Four
ଚାର

 



QID : 123 - In an EVS classroom, when teacher is organising activity for students, then it is primarily
aimed at which of the following?

ଏକ EVS କ� ାସର� ମ େର, େଯଉଁ ଶି�କ ଶି�ାଥ�ୀର ପାଇଁ କି� ୟାକଳାପ ପରିଚାଳନା କରିଛନି� , େତଣ ୁଏହା ପ�ାଥମିକଭାେବ ନମି�ଳିଖ�ତ େକଉଁ
ଦଗିେର  ଳ�� କରା ଯାଇ ପାେର ?

Opt ions:

1) Improving social skills of students
ଶି�ାଥ�ୀର ସାମାଜିକ ଦ�ତା ଉନ�ତ କରିବା 
2) Breaking monotony in the process of learning
ଶି�ାର ପ�କି� ୟା ଏକେଘେୟ ଭା�ା 
3) Ensuring active participation of students in the process of learning
ଶି�ାର ପ�କି� ୟା ଶି�ାଥ�ୀର ସକି�ୟ ଅଂଶଗ�ହଣ ନଶିି�ତ କରିବା 
4) Enhancing student’s knowledge
ଶି�ାଥ�ୀର �ାନ ବଢାଇବା 

Correct  Answer:  3)   Ensuring active participation of students in the process of learning
ଶି�ାର ପ�କି� ୟା ଶି�ାଥ�ୀର ସକି�ୟ ଅଂଶଗ�ହଣ ନଶିି�ତ କରିବା

Candidate Answer:   3)  Ensuring active participation of students in the process of learning
ଶି�ାର ପ�କି� ୟା ଶି�ାଥ�ୀର ସକି�ୟ ଅଂଶଗ�ହଣ ନଶିି�ତ କରିବା

 

QID : 124 - In the context of EVS pedagogy, all of the following are desirable practices except ______.

EVS ଶି�ାଗତ ପ�ସ�େର, ______ ଛଡା ନମି�ଳିଖ�ତ ସମସ�ଗୁଡ଼କି ଆବଶ�କୀୟ ଅନୁଶୀଳନ।

Opt ions:

1) nurturing the identity of the child
ସନ�ାନର ପରିଚୟ ଲାଳନ କରିବା 
2) acknowledging the superiority of text book knowledge over actual observation
ପ�କୃତ ପଯ�େବ�ଣେର ପାଠ� ପସୁ�କ �ାନର େଶ�ଷ�ତ�କ ସ�ୀକୃତ ିପ�ଦାନ 
3) promoting polarity of texts and contexts
ପାଠ� ଏବଂ ପ�ସ�େର  େମର� ତା ପ�ଚାର 
4) building capacity for critical thinking and problem - solving
ସମାେଳାଚନାମଳୂକ ଚନି�ାଭାବନା ଏବଂ ସମସ�ା ସମାଧାନର ପାଇଁ ତଆିରି �ମତା

Correct  Answer:  2)   acknowledging the superiority of text book knowledge over actual
observation
ପ�କୃତ ପଯ�େବ�ଣେର ପାଠ� ପସୁ�କ �ାନର େଶ�ଷ�ତ�କ ସ�ୀକୃତ ିପ�ଦାନ

Candidate Answer:   1)  nurturing the identity of the child
ସନ�ାନର ପରିଚୟ ଲାଳନ କରିବା

 



QID : 125 - All of the following are indicators of the general approach to be followed for EVS in
primary classes except from
I. Concrete to abstract
II. Simple to complex
III. Local to global
IV. Abstract to concrete

ନମି�ଳିଖ�ତଗୁଡ଼କୁି ଛାଡ ିପ�ାଥମିକ କ� ାସେର  EVSର ପାଇଁ ଅନୁସରଣ କଡ଼ ିସାଧାରଣ ପ�ତରି ସଚୂକ
I. କଂକି� ଟ ଠାର�  ବମିତୂ� କରିବା (ଆବ��ାକ� )
II. ସହଜ ଠାର�  ଜଟଳି
III. ସ�ାନୀୟ ଠାର�  େଗ�ାବାଳ
IV.  ବମିତୂ� କରିବା (ଆବ��ାକ� ) ର�   କଂକି� ଟ

Opt ions:

1) Only IV
େକବଳ IV 
2) I and II
I ଏବଂ II 
3) II and III
II ଏବଂ III 
4) Only II
େକବଳ II

Correct  Answer:  1)   Only IV
େକବଳ IV

Candidate Answer:   4)  Only II
େକବଳ II

 

QID : 126 - ‘World Yoga Day’ is celebrated on ______.

‘ବଶି� େଯାଗ ଦବିସ’ ______ େର ପାଳିତ �ଏ।

Opt ions:

1) 5th June
5 ଜୁନ 
2) 1st May
1 େମ 
3) 21st June
21 ଜୁନ 
4) 7th October
7 ଅେକ� ାବର

Correct  Answer:  3)   21st June
21 ଜୁନ



Candidate Answer:   3)  21st June
21 ଜୁନ

 

QID : 127 - What is the name given to the technique used in class management where the teacher
punishes the naughty students by removing them from the rest of the class?

କ� ାସ ମ�ାନଜେମେନ�  ବ�ବ�ତ େକୗଶଳଟରି ନାମ କଣ ଦଆି େହଇଛ,ି େଯଉଁଥ�େର ଶି�କ ଦୁଷ� ଶି�ାଥ�ୀ�ୁ କ� ାସ ର�  ବାହାର କରି ଦ� ଦଅିନି�?

Opt ions:

1) Time – out technique
ସମୟ - ଆଉଟ େକୗଶଳ 
2) Stand – up technique
ଷ�ା�  ଆପ ପ�ଯୁକି�  
3) Extinction technique
ବଳୁିପି�ର େକୗଶଳ 
4) No option is correct
େକୗଣସ ିବକିଳ�  ସଠିକ ନୁେହଁ

Correct  Answer:  1)   Time – out technique
ସମୟ - ଆଉଟ େକୗଶଳ

Candidate Answer:   2)  Stand – up technique
ଷ�ା�  ଆପ ପ�ଯୁକି�

 

QID : 128 - A teacher is asking questions in EVS classroom. Which of the following is not a
characteristic of a good question?

ଜେଣ ଶି�କ EVS େଶ�ଣକି� ପ�ଶ� ପଚାରିଛନି� । ନମି�ଳିଖ�ତ େକଉଁଟ ିଏକ ଭଲ ପ�ଶ� େବୖଶିଷ�� ନୁେହଁ?

Opt ions:

1) Thought provoking
ଚତି କରିବା ଉଶେକଇବା  
2) Ambiguous
ଦ� �ଥ�କ( ଆମି�ଗୁଓସ) 
3) Concise and precise
ସଂ�ିପ� ଏବଂ ସନୁଦି�ଷ� 
4) Appropriate and clear language
ଉପଯୁକ�  ଏବଂ ସ�ଷ� ଭାଷା

Correct  Answer:  2)   Ambiguous
ଦ� �ଥ�କ( ଆମି�ଗୁଓସ)

Candidate Answer:   1)  Thought provoking
ଚତି କରିବା ଉଶେକଇବା 



 

QID : 129 - Learners in an EVS classroom estimate the number of mugs of water required to fill a
bucket. Which skills does this activity promote?

ଏକ ଇଭ�ଏସ େଶ�ଣକି�ର ଶି�ାଥ�ୀମାେନ ବାଲ��  ପରୂଣର ପାଇଁ ଦରକାର େହଉଥ�ବା ପାଣ ିମଗର ସଂଖ�ାକୁ ଅନୁମାନ କେଲ। ଏଇ କାଯ�କଳାପଟି
େକଉଁ ଦ�ତାର ପ�ଚାର କେର?

Opt ions:

1) Communication
େଯାଗାେଯାଗ 
2) Classification
େଶ�ଣୀବନି�ାସ 
3) Prediction
ଭବଷି�ବାଣୀ  
4) Interpretation
ବ�ାଖ�ା

Correct  Answer:  3)   Prediction
ଭବଷି�ବାଣୀ 

Candidate Answer:   3)  Prediction
ଭବଷି�ବାଣୀ 

 

QID : 130 - A narrative about Karnam Malleswari, a female weight lifter is included in the NCERT
textbooks of EVS, which of the following is the purpose of its inclusion?
I. To break gender stereotypes linked with this game
II. To inspire young girls
III. To make chapter interesting and funny

କଣ�ମ ମାେଲଶ�ରୀ ସ�କ�େର  ଏକ ଆଖ�ାନ, ମହଳିା ଭାର ଉେ�ାଳନକାରି  ଇଭ�ଏସ ର ଏନସଇିଆରଟ ିପାଠ�ପସୁ�କ ଅନ�ଭ�� କ�  କରା େହାଇଛ,ି
ନମି�ଳିଖ�ତ ମ�ର�  େକଉଁ ଉେ�ଶ�େର ଅନ�ଭ�� କ�? ?
I. ଏଇ େଗମର ସାଥ ଲ�� ଯୁକ�   ସି�ରିଓଟାଇପଗୁଡ଼କି  ଭାେ�
II. ଯୁବତୀ ମାନ�ୁ  ଅନୁପ�ାଣତି କେର
III. ଅ�ାୟଟକୁି  ଆକଷ�ଣୀୟ ଏବଂ ମଜାର କରିବା ପାଇଁ

Opt ions:

1) I and II
I ଏବଂ II 
2) I and III
I ଏବଂ III 
3) II and III
II ଏବଂ III 
4) I, II and III
I, II ଏବଂ III



Correct  Answer:  1)   I and II
I ଏବଂ II

Candidate Answer:   1)  I and II
I ଏବଂ II

 

QID : 131 - Which national leader gave the slogan – “Swaraj is my birth right”?

କଣ ଜାତୀୟ ନତା େସ�ାଗାନ ଦେିୟଛେିଳନ - "ସ�ରାଜ ଆମାର ଜନ�ର ଅଧ�କାର"?

Opt ions:

1) Lala Lajpat Rai
ଲାଲା ଲାଜପତ ରାଏ 
2) Bal GangadharTilak
ବାଳ ଗ�ାଧର ତଳିକ 
3) Bipin Chandra Pal
ବପିିନ ଚ��  ପାଳ 
4) Mahatma Gandhi
ମହା�ା ଗା�ୀ

Correct  Answer:  2)   Bal GangadharTilak
ବାଳ ଗ�ାଧର ତଳିକ

Candidate Answer:   2)  Bal GangadharTilak
ବାଳ ଗ�ାଧର ତଳିକ

 

QID : 132 - Which Article of the Indian Constitution prohibits forced labour in India?

ଭାରତୀୟ ସଂବଧିାନର କଣ ଅନୁେ�ଦ ଭାରତ େଜାର କେର ଶ�ମ ନଷିି� କରଛ?

Opt ions:

1) Article 22
ଅନୁେ�ଦ 22 
2) Article 23
ଅନୁେ�ଦ 23 
3) Article 24
ଧାରା 24 
4) Article 25
ଅନୁେ�ଦ 25

Correct  Answer:  2)   Article 23
ଅନୁେ�ଦ 23

Candidate Answer:   3)  Article 24
ଧାରା 24



 

QID : 133 - Which national leader died on the day on which Non-Cooperation movement was
launched?

ଅସହେଯାଗ ଆେ�ାଳନ େଯଦନି ଶୁର�  େହଇଥ�ଲା େସଦନି କଣ ଜାତୀୟ ନତାର ମତୃ� � େହଇଥ�ଲା?

Opt ions:

1) Bipin Chandra Pal
ବପିିନ ଚ��  ପାଳ 
2) M.G. Ranade
M.G. ରାନାେଡ 
3) Bal GangadharTilak
ବାଳ ଗ�ାଧର ତଳିକ 
4) Lala LajpatRai
ଲାଲା ଲାଜପତ ରାଏ

Correct  Answer:  3)   Bal GangadharTilak
ବାଳ ଗ�ାଧର ତଳିକ

Candidate Answer:   4)  Lala LajpatRai
ଲାଲା ଲାଜପତ ରାଏ

 

QID : 134 - A person is suffering from Dengue. Which of the following home remedy can be given to
him to cure his illness?

ଜେଣ ବ�କି�  େଡ�ୁେର  ଆକ� ାନ� ଅଛ ି। ତାର ସସୁ�ତା  ପାଇଁ ନମି�ଳିଖ�ତ େକଉଁ ପ�କାର ଘେରାଇ ଉପଚାର ଦରକାର ପେଡ ?

Opt ions:

1) Ginger and Jaggery
ଆଦା ଏବଂ ଗୁଡ଼ 
2) Clove oil
ଲବ� େତଳ 
3) Garlic oil
ରସଣୁ େତଳ  
4) Papaya extract
ଅମତୃଭ�ା ନଯି�ାସ

Correct  Answer:  4)   Papaya extract
ଅମତୃଭ�ା ନଯି�ାସ

Candidate Answer:   4)  Papaya extract
ଅମତୃଭ�ା ନଯି�ାସ

 



QID : 135 - Which of the following is practiced by the Khond Tribe of Odisha?

ନମି� ମ�ର�   େକଉଁଟ ିଓଡ଼ଶିାର େଖା� ଟ�ାଇବ ଦ� ାରା ଅଭ�ାସ କରା �ଏ?

Opt ions:

1) Briefcase farming
ବି�ଫେକସ ଚାଷ 
2) Intensive subsistence farming
ନବିଡ଼ି ଜୀବକିା ନବି�ାହ 
3) Shifting cultivation
ସ�ାନାନ�ର  ଚାଷ  
4) No option is correct
େକୗଣସ ିବକିଳ�  ଠିକ ନୁେହଁ 

Correct  Answer:  3)   Shifting cultivation
ସ�ାନାନ�ର  ଚାଷ 

Candidate Answer:   3)  Shifting cultivation
ସ�ାନାନ�ର  ଚାଷ 

 

QID : 136 - Which of the following language – region pair is correctly matched?

ନମି� ର�  େକଉଁ  ଭାଷାଟ ି - ଅ�ଳମାନ� ସହତି   ସଠିକଭାେବ େମଳଖାଉଛ?ି

Opt ions:

1) Santhali – Jharkhand
ସଁାଥାଳି - ଝାଡ଼ଖ� 
2) Konkani – Odisha
େକା�ାନ ି- ଓଡ଼ଶିା 
3) Maithli – Maharashtra
େମୖଥଳି - ମହାରା�� 
4) Dongri – Kerala
ଦଂରି - େକରଳ

Correct  Answer:  1)   Santhali – Jharkhand
ସଁାଥାଳି - ଝାଡ଼ଖ�

Candidate Answer:   1)  Santhali – Jharkhand
ସଁାଥାଳି - ଝାଡ଼ଖ�

 

QID : 137 - In which year, the name of the Orisha state was changed to Odisha?

େକଉଁ ବଷ� େର  ଓରିଶା ରାଜ�ର ନାମ ବଦଲାଇ ଓଡ଼ଶିା କରା େହଇଥ�ଲା?



Opt ions:

1) 2008 
2) 2010 
3) 2012 
4) 2011

Correct  Answer:  4)   2011

Candidate Answer:   4)  2011

 

QID : 138 - Odisha has a ______ legislature.

ଓଡ଼ଶିାର ଏକଟ ି______ ଆଇନସଭା ରହଛି।ି

Opt ions:

1) Bicameral
ବାଇକ�ାେମରାଲ 
2) Tricameral
ଟ�ାଇକ�ାେମରାଲ 
3) Unicameral
ଏକକ�ବଶିିଷ�(ଉନକି�ାେମରାଲ) 
4) Polycameral
ପଲ�କ�ାେମରାଲ

Correct  Answer:  3)   Unicameral
ଏକକ�ବଶିିଷ�(ଉନକି�ାେମରାଲ)

Candidate Answer:   4)  Polycameral
ପଲ�କ�ାେମରାଲ

 

QID : 139 - Who appoints the Governor of state in India?

ଭାରତେର ରାଜ�ପାଳକୁ  କିଏ  ନଯିୁକି�  କେର?

Opt ions:

1) Prime minister
ପ�ଧାନମନ� ୀ 
2) Parliament
ସଂସଦ 
3) Chief Minister of States
ରାଜ�ର ମଖୁ�ମନ� ୀ 
4) President
ରା��ପତି



Correct  Answer:  4)   President
ରା��ପତି

Candidate Answer:   4)  President
ରା��ପତି

 

QID : 140 - Oldest scripture of Odisha is ______.

ଓଡ଼ଶିାର ପ�ାଚୀନତମ ଧମ�ଗ�ନ�ଟ ି______।

Opt ions:

1) Utkal Madala
ଉ�ଳ ମାଦଳା 
2) Madala Panji
ମାଦଳା ପା�� 
3) Utkal Panji
ଉ�ଳ ପା�� 
4) Odiya Panji
ଓଡ଼ଆି ପା��

Correct  Answer:  2)   Madala Panji
ମାଦଳା ପା��

Candidate Answer:   2)  Madala Panji
ମାଦଳା ପା��

 

QID : 141 - Hirakud Dam is built across which river?

ହରିାକୁଦ ବ� ଟ ିେକଉଁ ନଦୀର ମ�େର ନମି�ତ?

Opt ions:

1) Ganga
ଗ�ା 
2) Godavari
େଗାଦାବରୀ 
3) Mahanadi
ମହାନଦୀ 
4) Krishna
କ� ୀ�ା

Correct  Answer:  3)   Mahanadi
ମହାନଦୀ

Candidate Answer:   3)  Mahanadi
ମହାନଦୀ



 

QID : 142 - Which of the following is a saturated fat?

ନମି�ର କଣଟ ିଏକଟ ିସ�ାଚ� େରେଟଡ ଫ�ାଟ?

Opt ions:

1) Olive oil
ଜଳପାଇ େତଳ 
2) Sunflower oil
ସଯୂ�ମଖୁୀର େତଳ 
3) Butter
ମାଖନ 
4) Vegetable oil
ସବି�ର େତଳ

Correct  Answer:  3)   Butter
ମାଖନ

Candidate Answer:   3)  Butter
ମାଖନ

 

QID : 143 - Odisha has a ______ climate.

ଓଡ଼ଶିାର ଏକ ______ ଜଳବା� ରହଛି ି।

Opt ions:

1) Subtropical
ପ�ାୟ ଗ�ୀଷ�ମ�ଳୀୟ 
2) Tropical
ଗ�ୀଷ�ପ�ଧାନ 
3) Equatorial
ନରି�ୀୟ 
4) Tundra
ତ��� ା

Correct  Answer:  2)   Tropical
ଗ�ୀଷ�ପ�ଧାନ

Candidate Answer:   3)  Equatorial
ନରି�ୀୟ

 

QID : 144 - “Litti-Chokha” is a food material belonging to ______.

"ଳି�-ିେଚାଖା " ______ ଏକ ଖାଦ� ଉପାଦାନେର  ଅନ�ଭ�� କ� ।



Opt ions:

1) Odisha
ଓଡଶିା 
2) Bihar
ବହିାର 
3) West Bengal
ପଶି�ମବ� 
4) Assam
ଆସାମ

Correct  Answer:  2)   Bihar
ବହିାର

Candidate Answer:   2)  Bihar
ବହିାର

 

QID : 145 - Drop of garlic oil can be given as a home remedy for which of the following
disease/problem?

ରସନୁର େତଳ େଠାପା େକଉଁ  େରାଗ / ସମସ�ାର ଘେରାଇ ପ�ତକିାର ହସିାବ ଦଆି ଯାଇ ପାେର?

Opt ions:

1) Eye burning
ଆଖ� ଜଳିବା 
2) Sprain
େମାଡ ିେହବା 
3) Toothache
ଦାନ� ବ�ିା  
4) Ear Ache
କାନ ବ�ଥା

Correct  Answer:  4)   Ear Ache
କାନ ବ�ଥା

Candidate Answer:   4)  Ear Ache
କାନ ବ�ଥା

 

QID : 146 - Sweet taste buds are present ______.

ସଇୁ� େଟଷ� ବ� ______େର ଉପସି�ତ।



Opt ions:

1) on the back of the tongue
ଜି�ର ପଛ ଭାଗେର  
2) on the either side of tongue
ଜି�ର ଦୁଇ ପାଖେର  
3) on the tip of the tongue
ଜି�ର ଉପର ଭାଗ େର  
4) behind the salt taste buds
ସଲ�  େଟଷ� ବଡ ପଛେର 

Correct  Answer:  3)   on the tip of the tongue
ଜି�ର ଉପର ଭାଗ େର 

Candidate Answer:   3)  on the tip of the tongue
ଜି�ର ଉପର ଭାଗ େର 

 

QID : 147 - In which year, Britishers occupied Odisha?

େକଉଁ ବଷ� େର ବି�ଟଶିମାେନ  ଓଡ଼ଶିା ଦଖଳ କରିଥ�େଲ ?

Opt ions:

1) 1800 
2) 1803 
3) 1810 
4) 1798

Correct  Answer:  2)   1803

Candidate Answer:   2)  1803

 

QID : 148 - Most of the Odisha is covered by ______.

ଓଡ଼ଶିାର ଅଧ�କ�ମ ଅଂଶ ______ ଦ� ାରା ଆବୃତ।

Opt ions:

1) black soil
କଳା ମାଟ ି
2) yellow soil
ହଳଦଆି ମାଟ ି
3) laterite soil
ପେରର(ଲାେଟରାଇଟ) ମାଟ ି
4) forest soil
ବନ ମାଟି



Correct  Answer:  2)   yellow soil
ହଳଦଆି ମାଟି

Candidate Answer:   3)  laterite soil
ପେରର(ଲାେଟରାଇଟ) ମାଟି

 

QID : 149 - DPT vaccine is for ______.

ଡପିିଟ ିଟୀକା ______ େହଉଛ ି ପାଇଁ।

Opt ions:

1) Diptheria, Polio and Typhoid
ଡ�ି େଥରିଆ, େପାଳିଓ ଏବଂ ଟାଇଫେୟଡ 
2) Dengue, Polio and Typhoid
େଡ�ୁ, େପାଳିଓ ଏବଂ ଟାଇଫେୟଡ 
3) Diptheria, Pertusis and Tetanus
ଡପିେଥରିୟା, ପାଟ��ସସି ଏବଂ ଟେିଟନାସ 
4) Diptheria, Pertusis and Tuberculosis
ଡପିେଥରିୟା, ପାଟ��ସସି ଏବଂ ଯ��ା

Correct  Answer:  3)   Diptheria, Pertusis and Tetanus
ଡପିେଥରିୟା, ପାଟ��ସସି ଏବଂ ଟେିଟନାସ

Candidate Answer:   1)  Diptheria, Polio and Typhoid
ଡ�ି େଥରିଆ, େପାଳିଓ ଏବଂ ଟାଇଫେୟଡ

 

QID : 150 - Which test is used to detect HIV-AIDS?

ଏଇଚଆଇଭ�-ଏଇଡସ ଚ�ିଟ କରିବାକୁ  କଣ ପରୀ�ା ବ�ବ�ତ �ଏ?

Opt ions:

1) Blood test
ରକ�  ପରୀ�ା 
2) Sputum test
କଫ ପରୀ�ା 
3) X – Ray
ଏକ�  - େର 
4) MRI
ଏମଆରଆଇ

Correct  Answer:  1)   Blood test
ରକ�  ପରୀ�ା

Candidate Answer:   1)  Blood test
ରକ�  ପରୀ�ା



 

 


